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In the following list identify these statements which are indicative of helping behaviour of

effective teaching. Select from the code to give your answer.

(a) Instructional variety marked by multiple devices used.

(b) Using the ideas of students while making presentations.

(c) Student’s success rate as evident in correctly understanding the assignments.
(d) Engagement in learning tasks.

(e) Teacher affect as manifest in relations with students.

(f) Probing to add and seek classifications of ideas.

Code :

Options :

91394382801, (b), (e) and (f)

91394382802, (a), (b) and (c)

(d), (e) and (a)

91394382803.

(b), (c) and (d)

91394332804,

Question Number : 1 Question Id : 91394321077 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(b), () 3R (£)

91394332801.

(a), (b) 3R ()

913943382802.
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(d), () 3R (a)

91394332803.

(b), (c) 3R (d)

91294282804.

Question Number : 2 Question Id ; 91394321078 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
From the list given below identify these statements which relate to the characteristics of a
teaching act. Select from the code to indicate your answer.

(a) Teaching is a personal act to facilitate self development.

(b) The goal of all teaching is to cause learning.

(¢) Teaching invariably implies changing the opinion of others.
(d) Teaching is triadic rather than dyadic in nature.

(e) Teaching means selling ideas.

(f) Teaching means reaching the mind of students.

Code :

Options :

(), (b) and (c)

91394382505.

(©), (d) and (e)

913943823806.

(b), (d) and (f)

912943282807,

(£), (e) and (d)

91394382508,

Question Number : 2 Question Id : 91394321078 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

91394382805.

(), (d) 3T (e)

91394332506.

(b), (@) 3t ()

91394382807

(), (e) 3R (d)

913943382503.

Question Number : 3 Question Id ; 91394321079 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
For promoting competence and excellence in and through education, which of the needs of
Maslow’s hierarchy has to be addressed ?

Options :

01394380800 1N eed for love and belongingness

91394382810, Need for self esteem

91394382811, Oafety needs

S 1B9ABR551D: Need for self - actualization

Question Number : 3 Question Id : 91394321079 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

Y 3R 379 hi STl

913943328089,

3TcH M i ATIAITRAT

91394332810.

T i STMEATIHhAR

91394332811.

913943823812.

Question Number : 4 Question Id ;: 91394321080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks : (

Which of the following are hindering factors in effective teaching ? Select from the code to
give your answer.

(a) Teacher’s self-efficacy.

(b) Teacher’s subject knowledge.

(c) Low ability and willingness level of teacher.

(d) Lack of planning and teaching skills in a teacher.

(e) Teachers’s mastéxy of linguistic skills.

() Inappropriate body language of the teacher.

Code :

Options :

91394382813 (9), (d) and (f)

| (a), (e) and (c)

913943382014

(b), (c) and (d)

91394332815.

(), (c) and (f)

91394382316.

Question Number : 4 Question Id : 91394321080 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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che :

Options :

(c), (d) 3R (f)

913943828513.

(@), () 3R ()

91394332814.

(b), (c) 3R (d)

91394382515.

(), () 3T (f)

91394332816.

Question Number : 3 Question Id : 91394321081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line QQuestion Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In the following characteristics of an evaluation procedure, identify those which describe
formative assessment. Select from the code to indicate your answer.

(a) Evaluation is a post instructional event.

(b) Evaluation occurs during instruction.

(c) Evaluation is carried out by policy makers.

(d) Evaluation takes place periodically.

(e) The aim of evaluation is to improve the process of teaching.
(f)  Evaluation is based on participation of students and teacher.
Code :

Options :

a), (b) and (c)

913943852817. (

, (€) and (d)

91394382818. (b)
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91394382819, (b), (e) and (f)

(c), (d) and (f)

91394382820.

Question Number : 3 Question Id : 91394321081 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

913943820817.

(b), (c) 3R (d)

91394382818.

(b), (e) 3T (f

913943823819.

(9), (d) 3R (f)

91394382820.

Question Number : 6 Question Id : 91394321082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A researcher while writing his/her thesis does not give the rationale underlying use of
statistical techniques. This will be best described as a case of :

Options :

Ethical misconduct
91394382821

91394382822, An error of omission

An error of commission
91394382823,
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Technical lapse
91394382824,

Question Number : 6 Question Id : 91394321082 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ST SNe-YsiY forad a9 e siene Wiferantd qe-ih] o STIYANT o1 dohi4R &l o €, 39
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Options :

e FIER
91394382822. 'ﬂ\?’[ @. —ég aﬁ

91394382823 STT-of& b i Tl"st jﬁ.’

BESIEIRCC)

91394382521

91394382824

Question Number : 7 Question Id : 91394321083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which type of research, the steps of research have to be cyclic ?

Options :

Grounded theory research
91394382825,

Action research
91394382826,

91394382857 Experimental research

o1394380a0s  —ase study research

Question Number : 7 Question Id : 91394321083 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Options :
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91394332825.
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91394382826.

IR 3N

91394382827.

e 31T MY

91394282828.

Question Number : 8 Question Id : 91394321084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A researcher plans to study the effect of socio-economic status of parents on the school
drop-out rate in a district. What type of research will it be ?

Options :

v L : oo x o g .
SRR Hypothesis formulating research

Experimental hypothesis testing research
91394382830,

Non Experimental hypothesis testing research
91394382831

Ethnographic research

91394332832.

Question Number : 8 Question Id : 91394321084 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

TRereqH1 g Iy

913943828289.

YRR GREeTAT YT S

912943828320,

TR-9rRNfTeR REregmT gdeqor sy

91394382531.

91394382832. 1 Qﬂla

Question Number : 9 Question Id : 91394321085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

(a), (b) 3R (c)

91394382833.

(d), (e) 3R (f)

91394332834.

(a), (b) 3T (f)

91394332835.

(b), (c) ¥R (e)

91394382536.

Question Number : 9 Question Id : 91394321085 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Below are given a few key terms. Identify these which denote qualitative research paradigm.

(a) Ex post facto method
(b) Ethnography

(c) Symbolic interaction
(d) Descriptive survey

(e) Narrative

(f) Experimental method
Code :

Options :

(a), (b) and (c)

91394382833.

(d), (¢) and (f)

91394332834.

(), (b) and (f)

91394382835.
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91394382836, (b)’ (C) and ((:‘)

Question Number : 10 Question Id : 91394321086 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For which type of research, the action words - ‘Control, manipulate and observe’ are most
relevant 7

Options :

R Action research

& (e Historical Research

91394382839, Experimental research

" ! : _') " . .
S sRERE Grounded theory approach based research

Question Number : 10 Question Id ;: 91394321086 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
o goeR & 9Ny & forg, Topan-w=rs wrse ‘2001, &R-Th AT SIR STaTciish’ — Galifereh e & 2

Options :

TR Y

91394382837.

Ufqeides oy
YEITeR 3N

9139438528389.

913394382838.

STHHT THgid giteshion smenfid e

91394382840.

Sub-Section Number: 2
Sub-Section Id: 9139431116
Question Shuffling Allowed : Yes

Question Id : 91394321087 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : CDmprehensi-::zn
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Read the passage carefully and answer the questions from 11 to 15.

Smart phones have grown in popularity over the last few years, and applications, or
content, rest at the heart of this growth. Content has become more important than hardware
and the quality of content is determined by creativity. Creativity emerges as seemingly
disparate areas, such as education, industry, and culture. As aresult, convergence of virtually
all areas is receiving the spotlight today.

Convergence must also take place in the area of policy-making. Breaking down the
walls between education and science and technology (S & T) universities and businesses and
research and education, and convergence of these areas will bring about synergy and perhaps
yield unexpected creative results. When education and S & T merge, one plus one can result
in something greater than two. Convergence can take many forms : providing an education
that develops divergent thinking and encourages creativity in students at an early age;
developing human talents required by business by breaking down the barriers between
universities and businesses, and sharing the assets of government funded research institutes
with university students. These merges form the platforms for human creativity.

A nation can only become a world leader in S & T when its scientists are cultivated and
allowed to research to their heart’s content.

Sub questions

Question Number : 11 Question Id : 91394321088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
According to the passage use of the smart phones has grown because of developments in :

Options :

91394382841. Teclmologle.s

Researches
91394382842

o1394352843, 1Need for applications

—_—_— Interest of people

Question Number : 12 Question Id ;: 91394321089 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
In the view of the author of this passage, what determines the quality of content ?
Options :

o1394380845. L revailing traditions

01304352846, L 2T€AS of application

Creativity and convergence factors
91394382847,
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01304350845 L1T€as of concern

Question Number : 13 Question Id : 91394321090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Unique results will flow owing to :

Options :

Policy-making

91394382848%.

. Creative results of synergy
91394382850,

Removing the hindering factors between research and education
91394382851.

Svner
91394380852 ) 1 C1oY

Question Number : 14 Question Id ;: 91394321091 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
On the basis of this passage, it can be stated that convergence 1s :

Options :

| A linear process developing in a sequential fashion
91394382853,

A simple additive process to enhance power
91394382854,

An interactive process centred on various elements
91394382855,

A multifaceted mteractive process
91394382856,

Question Number : 15 Question Id : 91394321092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0
Quality of research in a nation gets enhanced as a result of :
Options :

Dedicated spirit of the researchers
91394382857,

_ Hardwork of the researchers
91394332858,
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Expert power of the researchers
91394382859,

91394382860. Varlety In researches

Question Id : 91394321087 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (11 to 15)
Question Label : Comprehension
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Sub questions

Question Number : 11 Question Id : 91394321088 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

T & STTER T ®F &1 Fam f=ifera § | forq § faohm & SR 991 €2

Options :

f 5

912394382841.
M

913943382042.

STTANT hi ST
91394382843,

SIERIE]

91294382844.
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Question Number : 12 Question Id : 91394321089 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

T TS o 7@ o STIER, FASIdl 1 el fhay i St 2

Options :

R GERICHEIR
3YANT & & |
TEATHAl 3IR GEAre &R |

91394382845

91394332846

91394332847.

91394382848. T\EH aﬁﬁ

Question Number : 13 Question Id : 91394321090 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foraer Trean 9 faaeror g 2 2

gyfd o TeAHS qRomH

91394332850,

MY UG &1 & U o STEYh| hl g2H]

913943382651,

91394332852. H

Question Number : 14 Question Id : 91394321091 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

T o YR W I hal ST Hehal ¢ Toh GEHIA ¢
Options :

HiHeh ¥4 ¥ {ash{Ed 3 ol T 350 ik

91394382853,

vife LA Wt T G AFTRHS Gihdn

91394382654.

fafy=1 el W enuiRa U 3id: fsharcaes gfswan

91294382855,
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91394252656.

Question Number : 15 Question Id : 91394321092 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

forelt T2 ® oy 1 uran § fRae ufiomiesy e et B2

Options :

nenfeAl o gafda el

91394332857,

N T HIR FH

91394382858.

TR ki ferrosran wiferd

91394382859,

el fafere

91394332860,

Sub-Section Number: 3
Sub-Section Id: 9139431117
Question Shuffling Allowed : Yes

Question Number : 16 Question Id : 91394321093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
Which of the following sequence correctly depicts the linear communication model between
teacher and students.

Options :

Encode — Symbols — Message — Channel
91394382861,

- Channel — Message — Symbols — Encode
91394382862,

_ Message — Channel — Symbols — Encode
91394382863,

_ Symbols - Message — Encode — Channel
91394382864,

Question Number : 16 Question Id ; 91394321093 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
freiferd | 9 SF 91 SA7HH ek oIk S & o9 3§ |90 UqH ol Wet §9 H U=fRid o € 2

Options :
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e Hhad — Hhd — HIW — =7

91394382661.

TTA — HIW — Hohd — Fe Hohad

91394382862.

I — =T — Hehd — FH Hohad

91394382863,

Hhd — H — F2 Hohad — =T

91394332664.

Question Number : 17 Question Id : 91394321094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
A university teacher makes a very effective expository presentation in his/her class without
caring for its effect on the students. This is an example of a/an :

Options :

Linear Communication Model
91394332865.

Interactive Communication Model
91394332866,

Transactional Communication Model
91394382867.

Ty Authoritarian Communication Model

Question Number ; 17 Question Id : 91394321094 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

o favafoener ferer sTa=it when T sIgd W IiHTcas TEgfa L/ il €, SEl W 39% 99 &
R # o fore w9/ 918 FrAifera § 9§ fraen Seeem §2

Options :
30 HY9OT YfdHH

913943828€5.

R E DR ER L LBIGEIE]

91394332866,
9139438286?.[§“ UECIRR IR LIRS
TAcHE U7 JiaH™

91394332868,



www.prepp.in

prepp

Your Personal Exams Guide

Question Number : 18 Question Id : 91394321095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Below are given two sets. Set - I specifies the sensory modes while Set - II offer illustration
of speech communication to go with them. Match the two sets and indicate your answer by
selecting the appropriate code.

Set - 1
(Sensory modes)
(a) Sight mode
(b) Hearing mode
(c) Touch mode
(d) Smell mode

(e) Taste mode
Code :

(@) (b) (o) (d)

Options :

91394382869, (iv) (v)

91394382870. (1) (H)

91394382871 (i) (i)

91394382872. (H) (]_ll)

)

@)
i)
(iv)
)

(e)
i)
(i)

(v)

(1)

Set- 11
(Illustrative speech)
It leaves a bad taste in my mouth.
I can’t put my finger on the problem.
Something is fishy.
That looks good to me.
That sounds fine to me.

(1) (1)

(tv) (V)
(v) @
(v)  (v)

Question Number : 18 Question Id : 91394321095 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= < 99 e e § | wug-1 ¥ sfaa-Had) yeral faffcse € Sefe Wug-11 § S 3T7EY Siis
GYHor 61 Ui ¥ 1 ST R o ghRfed Y SR ST e i 99 A g U SRS |

qgg-1
( sFga-wadt gahTan)
(a) S TP
(b)  FAU GehRl
(c) I YehI
(d) SO YRRl
() TH YTl
he :
(@ () () (d)

Options :
9139438286%5. (IV) (V)

i)
(i)

i)
@

v)
(e)
(i1)

|UE-11

( TRTT Weh WHUTHUT )

IO W e 7 S e 3 ¥

T T W STq STelt el W gehdl |
FS FSY ¥

T S T T ¢ |

& G- | I8 31 o ¢ |

i)
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i @ @) (v) @

9139433287 1.

91394382870.

i @ @ @) W)

9139438287 2.

Question Number : 19 Question Id : 91394321096 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following is a powerful indicator of mis-communication in a classroom
transaction ?

Options :

Volley of questions relevant to the subject.
91394382873,

| “Yawning’ by most of the students.
91394382874,

Purposely non-participative moves of students.
91394382875,

Volley of questions irrelevant to the subject.
91394382876

Question Number : 19 Question Id ; 91394321096 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
frifra § | @A Fen frafafa 8 F-9U90 &1 TF 99 9996 € 7

Options :

fawa < gfaq grEfier 9991 &1 et

91394382673.

At SEN &1 S A1

91394382874,

BEI g Uievd AUAYURT g9

91394382675.

fawa & gfa i 991 &t SISl

91394382876,

Question Number : 20 Question Id : 91394321097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which model of communication ‘noises” are introduced as an important variable ?
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ptions :

S Linear Model of Communication

_| Participative Model of Communication

Transactional Model of Communication
91394382879,

DT— Assertive Model of Communication

Question Number : 20 Question Id : 91394321097 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

o O WA Wi Y el W ¥ w9 watta e

Options :

_uﬁtrmmmsrﬁmﬁ

91394382877

~ HYYOT T YIGHIfTaT WeR WiaHE

91394382678

- Tyuor = TRt W YiaHE

91394382879

YW1 T ST T

91394382580

Question Number : 21 Question Id : 91394321098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Aman travelled 300 km by train and 200 km by taxi, and he completed this journey in

5 hours and 30 minutes. However, if he travels 260 km by train and 240 km by taxi, it will
take 6 minutes more to complete the journey. The speed of the train is :

Options :

100 km/hour

91394382831.

120 km/hour

91394332832.

913943828383. 80 kIIl/thlI‘

110 km/hour

91394332884.
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Question Number : 21 Question Id : 91394321098 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

3199 9 300 . H1. &Y aEn 29§ 3R 200 6.1 1 A TRl | T 3R W 3T 5 T 30 fie &1
O | @, af€ 98 260 .M. 27 ¥ 3R 240 fop. 1. Tl T a1 ke € O 39 AR G FA
T 6 oA 1 99T I T I A HT A ©

Options :

100 fe.HT/=

91394382881

120 foh. |t/ e

91394382882

80 IER: VAT

91394382883

- 110 ToR.HI/HeT

91294282884

Question Number : 22 Question Id : 91394321099 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks ;: 2 Wrong Marks ;

The present age of the father is twice that of the elder son. Ten years hence the age of the
father will be three times that of the younger son. If the difference in ages of the two sons is
as 15 years, the present age of the father is :

Options :

91294382885, 110 bt

91394382856. 70 FEAED

91394382887. 60 years

913943382833. 50 yedLs

Question Number : 22 Question Id : 91394321099 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
T &1 I 3T 1S O ot 3T &1 AT S| 3T | €9 96 918 foa &7 ST S T i 341 & diF
1 BRT | 9SS O3 6t TG | S 15 99 71 °1 a1 61 SdHe ST €

Options :
110 =

91394332885.



Www.prepp.in . repp

Your Personal Exams Guide
91394352886. 70

0 4

91394382887.

50 98

91394332883.

Question Number : 23 Question Id : 91394321100 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the sequence of numbers 2, 8, 24, 64, 160, x,........., the term x is :

Options :

2
91394382884, 320

384

91394382890.

192

91394332691. =

224
91394382892

Question Number : 23 Question Id : 91394321100 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
qEeli & ®H 2,8, 24, 64, 160, x,........., Hx W H A T :

Options :

2
912943828849, 320

384

91394382890.

192

91394332891. -

224
91394382892

Question Number : 24 Question Id : 91394321101 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In a certain code, PLEADING is written as FMHCQMFB. How is SHOULDER written in

that code ?

Options :
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91394382893, (2

QDCKVPIT

91394382594.

QDCKTIPV

91394382895.

TIPVQDCK

91394382896.

Question Number : 24 Question Id : 91394321101 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
et ®fqud %2 § PLEADING &1 FMHCQMFB for@n Siar g1 39 & § SHOULDER 1 4
feran simam 2

Options :

' KCDQTIPV

91394382893

- QDCKVPIT

91394282894

QDCKTIPV

91394332895

91394382896. 1 IPVQDCK

Question Number : 25 Question Id : 91394321102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In conveying the same meanings, which of the following is incongruous ?

Options :

Unique

91394382897

Beautiful
91394382895,

Rare
91394382899,

Exceptional
91394382900,

Question Number : 25 Question Id : 91394321102 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

S Cll

91394382897.

*

913943328983. 1

a4

91394382898.

91394332900,

Question Number : 26 Question Id : 91394321103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In terms of the relationship indicated below, which word will correctly pair to replace the

question mark (?) ?
Scrub : wash : : Sob : ?

Options :

Cry

91394382901.

Water
91394382902,

Sad

91394382903.

91394352304, Tease

Question Number : 26 Question Id : 91394321103 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
I T T GaY o IR, i 91 & WAl T W 6 e Suga 2rm 2
TS : 91 : : GAbA: 2

Options :

91394382901.

91394332902,

913943823903.
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91394332904,

Question Number : 27 Question Id : 91394321104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two premises with four conclusions drawn from them (taking singly or
together). Which conclusions are validly drawn ? Select the correct answer from the code
given below.

Premises : (1) All lawyers are extroverts.
(ii) Some wisemen are extroverts.
Conclusions : (a) All lawyers are wisemen.
(b) All wisemen are lawyers.
() Some extroverts are wisemen.
(d) All extroverts are lawyers.
Code :
Options :

(a) only

913943823905.

91394382906, (b) and (c) only

(a) and (c) only

91394382307.

(c) only

91394382308.

Question Number : 27 Question Id : 91394321104 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I <1 SNUR o1 feu Y € 9 =R ey faererd € (319hel 91 T 919) | w9 1 Tt Ot §2
i feu T 2 § 9§ WE I/ A |
Fem A () W sferee e 3 €
i) T IfeHA A afegeEt ad € |
o - (a) 9t AfEE gieam €1
(b) | gfgAr it )
) FS afeHE gigum g |
(d) T SfedEr sAfteea €1

e

Options :

913943823905. (El)
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fad (b) 3R (c)

913943523906,

fah (a) 3R ()

91294282907,

9139435230E. (C)

Question Number : 28 Question Id : 91394321105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which is an example of a correct deductive argument ?

Options :
There are 24 CDs on the top shelf of my bookcase and 14 on the lower shelf. There are

s 10am55000 1O other CDs in my bookcase. Therefore, there are 38 CDs in my bookcase.

No one got an“A’” grade on yesterday’s test. Jatin wasn’t in school yesterday. Jatin will

s1304380010. Make up the test today and get an A’ grade.

All human beings are in favor of world peace. Terrorists don't care about world peace.

~ Terrorists bring about destruction.
91394382911,

You have to be 16 years old to get a driver’s license. Abhi will be 16 years old tomorrow.

Therefore, Abhi can now buy a car.
91394332912,

Question Number : 28 Question Id : 91394321105 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
freifera o | &F T T AT adh 1SS § 2

Options :

N IF-F9 F FH TeE H 24 IR Froct Tew § 14 TE1 €| MITF-F9 T K IR @ &
| EfeT, W gE-69 | 38 W ¥

el bl G H TRl 1 A7 e 7T her | Sifor et et | 1€ 911 Sifo STt o < SR
91304382910, A TS FTE HTM |

Q4 o7 fava wifa & 981 § €| SAxiFarel fava wifd &t e & | Tkshare) o
913294352911 m%l

51334382909

SIS AEY UM o fold 3TT9eh! 16 a9 oh1 811 91T | 3114 el 16 I o1 81 ST | ST,
- 379 31 T HR g Hh 2|

91394582912

Question Number : 29 Question Id : 91394321106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

In a certain flight crew, the positions of the pilot, copilot and flight engineer are held by
Mr. Ajit, Mr. Bhavesh and Mr. Chirag, though not necessarily in that order. The following
statements are true for all the three :

(i) The copilot is the only child and earns the least.

(i) Chirag is married to Bhavesh's sister and earns more than the pilot.
Who is the copilot ?
Options :

Ajit
91394382913,

Bhavesh

91394382914.

Chirag
91394382915,

Either Ajit or Chirag

91394382916.

Question Number : 29 Question Id : 91394321106 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wfaqua faum =rere e § 4t S, ot v 8R4t Fer urerete, 9e-uraere 3R Wlge SSifer €,
3ol ST <Tel Tor 9% S A 8 21| f=ifoRa a9 diH1 o fou & €

() WE-IIE SThell UM ¢ SR Fo SH FHUTl |

(i) ToRET T WS HAY TR U T © IR 9% U ¥ Ay HAM T

e YA ShiF &2

Options :

91394332913.

SEN

91394382914.

91394332915.

a1 a1 31fsra ar e

91394382916.

Question Number : 30 Question Id : 91394321107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Ravi and Kunal are good in Hockey and Volleyball. Sachin and Ravi are good in Hockey and
Baseball. Gaurav and Kunal are good in Cricket and Volleyball. Sachin, Gaurav and Mandeep
are good in Football and Baseball. Who is good in Hockey, Cricket and Volleyball ?



Www.prepp.in . repp

Ovti Your Personal Exams Guide
ptions :

Sachin

913943382917.

Kunal

91394382918.

Ravi
91394382919,

Gaurav
91394382920,

Question Number : 30 Question Id : 91394321107 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g R FHomet gt AR diciaic & 31w faardt €1 afa X W gt Sik duara & o= faere
&1 TRa SR Fomer fopohe oiR dicliare % o= faene €| |fem, TR iR 9y Feerta sik Susia
& o= Taare €1 2, fohohe oiR dfctiaia &1 sr=a1 faerel #H g2

Options :

9133943382917.

FHOTA

91394332918.

fa

913943329189.

isC]

91394382920.

Sub-Section Number: 4
Sub-Section Id: 9139431118
Question Shuffling Allowed : Yes

Question Id : 91394321108 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (31 to 35)
Question Label : Comprehensi-:}n
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Consider the following two tables (I and II) that show the production (in Tég‘ﬁtlpees,rsoa? four A

products P, Q, R and S during the years 2010-2015 and the selling price per Tonne
(in X thousands) respectively. In accordance with the tables I and II, answer the questions
that follow (Questions 31 - 35) :
I : Production Yearwise (in Tonnes) II : Selling Price

(in < thousands)

Product — Price Per
Voo P Q R S Product iy

2010 45 99 Az 115 2 T9
2011 25 41 93 158 Q T4
2012 40 108 107 166 R T 13
2013 38 60 63 139 5 T3
2014 76 41 132 88

2015 56 70 120 97

Where,-
Stability of production of a given product during 2010-2015

Average Production

Maximum Production —Minimum Production

and Revenue (in ¥ thousands) from selling a product
= Production of a ProductX Selling Price

Sub questions

Question Number : 31 Question Id ;: 91394321109 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Neo Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
In which year, the annual growth rate of production (of all the products together) is
highest ?

Options :

2011
91394382921,

2012
91394382922

2014
91394382923,

2015
91394382924,

Question Number : 32 Question Id ;: 91394321110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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What is the stability of the production of P during 2010 - 2015 ?

Options :

91394382925.

91394382926.

91394382927.

913394382928,

1.43

1.63

Question Number : 33 Question Id : 91394321111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
In which year, the total revenue of all the four products is lowest ?

Options :

912943282929

91394382930.

91394382931.

91394382932,

2011

Question Number : 34 Question Id : 91394321112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the products P, Q, R and S fetches the lowest revenue ?

Options :

91394282933

91394352934.

91394332935.

9129428293ZE.

P

Q
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Question Number : 35 Question Id : 91394321113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Which of the following statements is true ?

Options :

Product R fetches second highest revenue across products in the year 2011.
91394382937

Sum of revenue of P, Q and S is more than the revenue of R in the year 2014.
91394352938

i Cumulative revenue of P and Q is more than the revenue of S in the year 2013.

Sum of revenue of P, Q, and S is more than the revenue of R in the year 2012.
91394382940,

Question Id : 91394321108 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions ;: No

Question Numbers : (31 to 35)
Question Label : CDmpI'EhEHSiGH

fre=ifera < IRET (1371 W famaR R ST IR SAR P, Q, R, S &1 a8 2010-2015 % SRH 3G
(7 H) SR shHw: Wiq < fohd gea (TR X |) S9iiel 1 WRofl T IR 11 % SR Freiferd el
(I 319 35) HIWE

] : IR S (29 H) I1: foshd 49 (FSIRT H)
g
P Q R S IR
1 GG

2010 | 45 99 75 115 P F9
2011 [ 25 41 93 158 Q T4
2012 40 108 107 166 R 713
2013 | 38 60 63 139 S z3
2014 | 76 A1 132 88
2015 | 56 70 120 97

Y 2010-2015 F SR fordl feu U 3R & IqET Hi R

3 ITEA

- ATYHTH AR — ZATH AT

3R ot Sare A fopt U oI o1 (SIRT H)

= TRl IS o1 e x fashd e

Sub questions

Question Number : 31 Question Id ;: 91394321109 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

fore gd T Sameq ([l SR 1 T WiY) H aifeF gfa X 359qq §72

Options :

2011
91394382921,

2012
913943382922

2014

91394382923.

2015

91394332924.

Question Number : 32 Question Id : 91394321110 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
a4 2010 - 2015 % IRA P % IRA i T 1 &2

Options :

91394332925.

91394382926.

1.43
91394382927,

1.63
91394382928,

Question Number : 33 Question Id : 91394321111 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
i IR 3R] | U Fa 371 ford 96 H =AaH 82

Options :

2011
91394382929,

2012

91394382930.

2013

91394382931.
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2010
91394382932,

Question Number : 34 Question Id ; 91394321112 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Optiun Orientation : Vertical

Correct Marks : 2 Wrong Marks ;

P, Q,Rafﬂsﬁﬁmm@rwmﬁmﬁn%a

Options :

P

91394382933.

Q

91394282924.

91394332935.
91394382936.

Question Number : 35 Question Id : 91394321113 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
iR A FA O 82

Options :

a9 2011 H 9 SURI # | IR R | qE 9 T Tl SART € |

91394382937.

a4 2014 § P, Q 3RS ¥ W e 39 &1 4 R ¥ W 3T 9 A 2|

91394282938.

a6 2013 H P 3iRQ ¥ I 1 A S | T 3 9 3 ¥

913943829389.

a9 2012 H P, Q 3RS 9 e Fed 3 R § Y 31 | 31f¥ek 2|

91394332940,

Sub-Section Number: 5
Sub-Section Id: 09139431119
Question Shuffling Allowed : Yes

Question Number : 36 Question Id : 91394321114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A virus hoax is an untrue virus warning email. When you receive a virus hoax such as the

one below, what is the appropriate action ?

Subject : Warning!

A new Virus has been detected in your computer. Format your hard disk and re-install all
softwares immediately.

Options :

lonore this email

91394382941

Reply to the sender

91394332942

S ASENEAS Forward this email to your friends

Format your hard disk and re-install all software immediately
91394382944,

Question Number : 36 Question Id : 91394321114 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
e ' AT B’ SR o e g Yerl e 3HA © | ST 3MT9e! fIETER Ue Aty gie
T B © o 3ferd e o ordl ?

fawg : =aEHT !
3T e H T T ARRY 1 Ul el € | 3T 21S F&teh 1 aonta wife 3 o) Teff Gieerr
1 T-3L2TA &1 |

- 39 THA i AACEl Sl

913394382941.

UYF ] A T

91394332942.

AU 91 <l I8 Ul ST T

91394382943,

dchI 3T9AT 8T8 feteh B AT 3R Ut iR & -3%2ia &l

91394382944,

Question Number : 37 Question Id : 91394321115 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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9 & e feu e § | Wgg -1 H oM. 31 ¥ HelfHd es-Hey € S WHg - 11 H 7 374 €1 i
Tl 1 G T 3R 3ad Fe 1 =997 FA gL WS |

g - 1 e - 11
(oTeE-HeT) (3ned)
(a) ELUL.ITE. (i) T oeR fHeX S REIREH i oY L 2|
(b) ELIARIL (i) Te-3iel LSl T R
(c) TH.3TE.HI. (iii) Uk YRR 1 I HiHIT
(d) HE-Im (iv) U FH FI T HX A 7 H Teg & ¢ |

I |
@ (b) () (d)

v @ @) @)
sranasmpess ¢ AY) (D ()
§ (@) (v) (i)
(i) (@) (@v) @)

91394382947.

91394382948.

Question Number : 37 Question Id : 91394321115 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
There are two sets given below. Set - I specifies the IT related acronyms, while Set - II
indicates their meanings. Match the two and give your answer by selecting the appropriate
code.

Set - 1 Set - 11
(Acronyms) (Meanings)
(a) DPI ()  Measures resolution of a laser printer
(b) CRT (i) An example of read-only storage
(c) NIC (iif) A type of computer monitor
(d) CD-ROM (iv) Enables a computer to connect to other computers
Code :
Options :

91394382945, (H) (IV) (Hl) (l)
913943523946, (1) (IV) (Hl) (H)

© @) (v) (i)

91394382947.
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91394382948, (i) (@) () @

Question Number : 38 Question Id : 91394321116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statement(s) regarding the term ICT is/are True ?

P : ICT is the abbreviation of Information and Collaboration Technology, meaning
technology related to information and collaboration, such as computers and the
Internet.
Q = The gap between people with effective access to ICT and those with very limited
or no access at all, is termed as digital divide.
Options :
P only
9139438529489,
Q only
913943823950.
P and Q
91394382951.
Neither P nor Q
91394382952.

Question Number : 38 Question Id : 91394321116 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SR .31, U o IR § F=ifora § | i 91 YF Wa €/ 7

P SR, g1 IR gfaum senfia Wit o vea-Ga €, A g iR wfaenfi

Q : R aF YEl 9K 9t @l TR ST Wi S1UaT Y g el Al o st
i =t fefea feare wer 5 €1

Options :

913943529435, T\Hﬁ; P

1% Q

91394282950.

AN Q

913394382951.

AAPARAETQ

91394382952.
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Question Number : 39 Question Id : 91394321117 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The computer software that runs a computer, including scheduling tasks, managing storage
and handling communication with peripherals is called :
Options :

Device Driver
91394382953,

Application Suite
91394382954,

Operatine System
91394382955, P S

Bluetooth Technology

91394382956.

Question Number : 39 Question Id : 91394321117 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
FHI 1 A Tl hged Wigery, e il =i STIg=! oM, HSR0 Tt 3R SFesT9eh] &
1 YN G I §, 3T Hgerdl ¢ 2

Options :
91394382953..ﬁgEﬂsiqlggE?q(
91394382954, "Ic(_’ﬂw:[ ggz
91394382955. m fﬂ?&'ﬁf
29 UrNfiTeht

91394382956.

Question Number : 40 Question Id ;: 91394321118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
The following list indicates different types of computer file formats. Which of them is devoted
exclusively to graphic file formats ?

Options :

GIF, JPEG, DOC

91394382957.

PNG, GIF, JPEG

91294282958,
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JPEG, TIFF, HTML

913394382958.

sissasassey TAEEyALe, EING

Question Number : 40 Question Id : 91394321118 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (
frifera gt 3 fafas ¥R & Hopet wea e g T ¥ f=ifea § 4 sF qola: miees wea
wite % faw gofda &2

Options :

S 3TE. U, SLULE. ST, €L,

91394382357.

Lo L R R | e e R R

91394332958.

U2 ST, 3 STR. .U, U9, UH. U

913943829589.

2. 378, UF. U, U, U, TH., TS,

91394352360.

Question Number : 41 Question Id : 91394321119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Following are two sets of items. Set - I lists different types of wastes, while Set - II indicates
methods of their disposal. Match the two sets and give your answer from the code given
below :

Set-1 Set - IT

(Types of Waste) (Methods of Disposal)
(a) Dry waste (i) By composting
(b) Wet waste (1) By burying in landfills
(c) Toxic waste (iii) By dropping them in corporation bins
(d) Soiled waste (iv) By recycling
Code :

@) B () (d)
Options :
913943852961. (1) (H) (]ll) (IV)

91394382962, (IV) (1) (ll) (lll)
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91394382963, (H) (111) (IV) (1)

(i) (v) (@) (1)

91394332964,

Question Number : 41 Question Id : 91394321119 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
= 7el % < | R €1 wgg - 18 B weR % Safire ¥, STeifd wyg - 11§ 376 earer
Frferelt < 7 §1 ST T o e it iR A fow T e @ W IR E -

g - 1 g - 11
( STUTITE T T&hTT) (T Rt fafaat )
(a) Y=k SURTE (i) SR THH & N
(b) TiieT AU (i) STHM H e % g
(c) Taden smafere (i) “TRUIAeRT & Feam H S o g
(d) Wi sTuidne (iv) GI=ShOI & BRI
che
(@ (b) () (d)
Options :
913342382961, (1) (H) (Hl) (IV)

91394382962, (IV) (1) (l_l) (H_I)

i) () (v) ()

91394382963.

(i) (v) @) (1)

91394332964,

Question Number : 42 Question Id : 91394321120 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For ensuring sustainability in the quality ethos of the university environment which of the
following would be considered high priority skill for a vice-chancellor ?

Options :

— Financial Management Skill

Administrative Skill

91394332966.
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| Technical Management Skill
91394382967,

' an Resource Man ent Ski
91394382968, Human Resource Management Skill

Question Number : 42 Question Id : 91394321120 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks ;
farsafasmea afiae # U & S&id =1 FHeHaa gHaideEd w3 & fau f=ifed § 9 o0 @
Fdfd 1 =5 NATHFHAT HIvrd HHT ST ?

Options :
ot geieM R

91394332965,

YIS IR

91394332966,

GERIEIR ELEREANT

91394382967.

Y SHYE YSET il
912394282968,

Question Number : 43 Question Id : 91394321121 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The purposes underlying the Renewable Energy Education programmes are :

Options :

' ative and mvesticative
o120438000g LOUCAtIVe and investigativ

Diagnostic and evaluative
91394332970,

Corrective and predictive
91394382971,

Preventive and ameliorative
91394382972,

Question Number : 43 Question Id : 91394321121 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Optinn Orientation : Vertical

Correct Marks : 2 Wrong Marks :

v Y-

Options :
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EHIEEC (R (ICRIREC?
91394382970,

91394382971, w ¥ \3:?[{ m
TR IR guReH

91394382969

91394382972

Question Number : 44 Question Id : 91394321122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

For an effective organisational climate within a university system, which of the following
measures will be most appropriate ?

Options :

Creating an equilibrium between driving forces and restraining forces.
31394382973,

Increasing the power of driving forces and decreasing the power of restraining forces.
91394332974.

| Decreasing the power of restraining forces without caring about the driving forces.
91394382975, -

Increasing the power of driving forces without caring about the restraining forces.
91394382976, -

Question Number : 44 Question Id : 91394321122 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

fordt favafaaer 93 & R Tk q9Et 913w ufiiaw & fau f=ifea § 9 9959 91 U™
e 9 a1 ?

- _ etk ol SR STERIES el o sd o haH HE |

913943823973

I el i AR ST ST STeIeh Sl i Al e

91394382974

| TR Il & AR fhU SR eEs 9l i viad 9 |

91394382975

_mﬁwﬁﬁmfwﬁwaﬁﬁmﬁaml

91394382976

Question Number : 45 Question Id : 91394321123 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Below are given a number of roles and functions at the government/non-government level

indicating the specific responsibilities of the Ministry of Drinking Water and S’iruta tion. Identify
those statements which indicate the areas of responsibility of this ministry. Select from the
code to give your answer :

(a) Overall policy and planning in respect of programmes of drinking water and sanitation.
(b) Funding in respect of the programmes listed in (a).

(c) Coordination of programmes floated.

(d) Supply of food grains at reasonable price to the consumers.

(e) Achieving the goal of zero hunger.

(f) Implementation of Swachh Bharat Abhiyan in rural India.

(g) Monitoring of prices and availability of essential commodities.

Code :

Options :

01394352077 (&) (D), (), and (g)

91394382978. (a)’ (b)’ (d) and (e)

(a), (b), (c) and (f)

9133943829783.

(a), (c), (d) and (e)

91394382380.

Question Number : 45 Question Id : 91394321123 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= YISl IR E=sdl T o fafirse STReEfawai 1 S9id g TR/ TR-T%&r TR W3S
i 3R SRl fou M €1 39 FuEl B TEAE B S 5H WA o AR i <uiid & | R
FTH Y A IW A ¢

(a) U iR Towsar deiel SRk %1 vy Aifa-fuaior SR R

) (a) ¥ SfUq SRR o1 foa g

) AT T HRIHHT H TSI

(b
(c
(d) U <l 3fed S W @EE S A
(
(

e) U1 YA o &d hl U HEAl

f) |G o ATHIOT Sl H e WA SATHAM bl AT 6T
(g) STERTh SISl I Ul SR HiHel b1 R

[ T

Options :

91394382977, (a), (b), (c) 3R (8)

QQ
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91394382978.

(@), (b), (c) 3R (£)

91394332979,

(a), (), (d) ¥R (e)

91394332980,

Question Number : 46 Question Id : 91394321124 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements are correct about Indira Gandhi National Open University
(IGNOU) ? To indicate your answer, select from the code given below :

(a) It is an autonomous organisation.
(b) Itis devoted to promotion of open and distance education system.
() It conducts assessment and accredits the State Open Universities.

(d) It has jurisdicion in respect of Open and Distance learning system in India and to the
study centres outside India.

Code :
Options :

(a) and (b)

91394382981.

(b) and (d)

91394382932.

(c) and (d)

91394382983.

(d) and (a)

91394352984.

Question Number : 46 Question Id : 91394321124 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

i el T Yo favafaemem (F) F IR A Eifra A AP I Frwar g2 Rumw e § 3

YT SW S

(a) € T WEAYRT G ¢

(b) IS Yo IR g foien yuredt & Wayq & fau gafia 3

() 9% Al o o forgafaeneri o1 gedish $iR Y i ¢ |

(d) 9Rd H o iR T T Jomedt IR WA o FeX & SHeh SIS g S0 &BUsR o
AT

e

Options :
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(a) 3T (b)

91394382981.

(b) 3R (d)

91394382932.

(c) ¥R (d)

91394332983.

(d) 3T (a)

91394382934.

Question Number : 47 Question Id : 91394321125 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The leadership and executive role in higher education system in respect of state universities
of India is assigned to :

Options :

01394582955 Chancellor of the University

T Vice-Chancellor of the University

+ i - 3
0130435005, Leans of Faculties

S A Dean of Studies

Question Number : 47 Question Id ;: 91394321125 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
R ¥ T o favafaeredt w1 3= foen yonelt ¥ S SiR wriras i e < T ¥ 2

Options :

Toreaformera o Fenteafa

91394382985

Taeaforene™ & Fedfd

91394382986

Yk qqE

91394382987.

- ST R I

91394352988
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Question Number : 48 Question Id : 91394321126 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The formal authority for approving the University level courses vests in :

Options :

01394582955 The Academic Council

The University Court

91394382990.

The Executive Council
91394382991,

The Research Degree Committee
91394382992,

Question Number : 48 Question Id : 91394321126 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foreaferemers ™ ekt & ST & fae =i TiHerl © ¢

Options :

912394282989, '“*
favafaenaa Fe

913943523930.

91394382991. a:;l?j =
Y 3Iumfer wibfa

91394332992,

Question Number : 49 Question Id ;: 91394321127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ;
foanera/ favafaaer sl & Ty § OFE g & dadq & foau f=ifea d 9 o6 ) aga
Vel Haifees SUg erfl 2

91394332993,

TfaamT Senfia Agea Sl

91394382994,



WwWw.prepp.in . repp
WW ﬁl?j?ﬁl _@rQ_rﬁ_ Your Personal Exams Guide

91394382995.

JAISHIHS —qed et

91394382996.

Question Number : 49 Question Id : 91394321127 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

For promoting human values through College/ University programmes which one of the
following leadership styles would be the most appropriate ?

Options :
s15043m000z L1TECHIVE Leadership Style

s1394350994 L Articipative Leadership Style

| Consultative Leadership Style
91394382995,

Delegating Leadership Style

91394382996

Question Number : 50 Question Id : 91394321128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A post-graduate degree holder student with 55% marks intends to pursue research for the
award of Ph.D. degree. What will be the formal requirements in this regard ? To indicate
your correct answer choose from the code given below :

(a) Appearing in an admission test of a university

(b) Attending a coaching institute

(c) Consulting an expert teacher

(d) Submitting an application for enrollment

(e) Submitting a proposal for the research

(f)  Discussing the research proposal with a peer group

(g) Getting the opinion of the experts on the research theme

(h) Getting the proposal approved by the relevant body of the university

i) Attending mandatory course work
Code :

Options :

91394382997, (@), (d), (e), (h) and (1)

5139433209, (L) (€), () and (i)
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51394382999, (O (), (g) and (h)

(d), (£), (h) and (i)

91394333000,

Question Number : 50 Question Id ;: 91394321128 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks ; (0
55% Sl ATl Teh HhIR 34101 B 91.U=L Sl SUIfY 9T &3 & faw iy =31 9ear &1 59
fore Sfro=nier stavasad Fn M7 e g § 4 a8 S ¢

(a) Tl Tawafaene #t e wen § S
(b) T HIfET HEIE H S

() T favue fersh 9 Felie o

(d) FTHIF F AU SAEET T=d F

(e) MY & fAT Y& GEA T

() Tk TIUS! T 6 WY WY T W == HE

(g) Y < fawa o faQmusi =61 T o

(h) Tevafo=mea % Hd R g0 96 &1 AFHIRT HIA
() AR UrSUHH FE H HE Al

Options :

@), (d), (), () 3T (i)

91394382997,

91394382998 (b)’ (C)" (f) aﬂ? (1)

(), (e), (g) ¥R (h)

9139438529989.

91394283000, (d)’ (f)’ (h) 31}{ (1)

Paper 11
Group Number : 2
Group Id : 913943278

Group Maximum Duration ; 120
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51 Social Medicine and Cornrmunity Health

013043278
1

Online
Mandatory
92
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200
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No

1
0139431120
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Question Number : 51 Question Id : 91394321129 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The institution of local self-government in an urban area of a district looking after a
population of 10,000 to 2 lakhsis:

Options :

91394333001.

91394335002.

91394335003.

91394335004,

Corporation

Cantonment Board

Municipal Board

Town Area Committee

Question Number : 51 Question Id : 91394321129 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

foret & wedt &t ° S 10,000 ¥ 2 wr@ it SHAEHT i T@ITA FA T T TSI S S

Fefafag da sR-ar g ?

Options :

91394333001,

HTEA
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91294283002, W

wfaue 9

91394383003.

37w wad
913943583004,

Question Number : 52 Question Id : 91394321130 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Five experts discuss NIPAH virus infection control measures amongst themselves with the
help of a moderator. The audience is invited for queries towards the end. This method
described is

Options :

Delphi
91394333005.

S sium
91384383006, yopo

91394383007, T 2nel discussion

Workshop
91394333008,

Question Number : 32 Question Id : 91394321130 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qie fories W derees Y agrEan @ o SrEeE g TR % 39 % R 7 w9l i § | 3 | i
i Y Yo % e w1 wran 7 | 7 fafa = Feafafee 4 @ fadh e i 2 2

Options :

91394383005.

91394383008,

91394383007, e

91394383008.

Question Number : 53 Question Id : 91394321131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Comparisons made between two randomly assigned groups, one group exposed to specific
treatment and the other group not exposed is

Options :

913943350089,

91394335010.

91394335011.

91394335012.

Crossover type of study design

Concurrent parallel study design

Preventive trial

Risk factor trial

prepp
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Question Number : 53 Question Id ;: 91394321131 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

HHEHTG TS B Tl S WA <l T A F T I 57T 2 T 0 wopg i fafiree sqagr it
ST Bt & Fafh 371 Wifg 394 Wi wa § | 38 Freafafas 9 @ fradh s @ st 2 2

Options :

91394383003,

91394383010.

91394383011.

91394383012,

S AT Afrpeq

ST THETE AlEhee

frare gz

Sifign wres gdiam

Question Number : 54 Question Id : 91394321132 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

In the Panchayati Raj System the ‘Panchayat Samiti’ is found at the level of

Options :

91394385013.

91394335014.

91394335015.

91394335016.

Village

Tehsil

Block

District
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Question Number : 54 Question Id : 91394321132 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
gerRrelt T swaet ¥ demr wfife’ frefefae 4 @ e wew a2 2

Options :

9129428301z ™

91394335014,

9139433835015.
91394383016,

Question Number : 55 Question Id : 91394321133 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following injectable contraceptives has been introduced for use in the National
Family Welfare program ?
Options :

91394383017. DMPA

Norplant
91394333018.

913943383019. NIEEN

Mifepristone
91394383020.

Question Number : 55 Question Id : 91394321133 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e whar weamn el % siqfa Frafifas § 8 S siadue (Fwaa) m-fivs 1= fea
T R ?

Options :

91394383017, AR

91394383018.
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Fe-u7 (NET-EN
913943830189 Lk )

91394383020.

Question Number : 56 Question Id : 91394321134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

Leprosy was declared eliminated from India when the prevalence of leprosy came down
below
Options :

1 per 100
91394383021.

1 per 1000
913943383022.

1 per 10000
91394383023,

1 per 100000
91394383024.

Question Number : 36 Question Id : 91394321134 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Fe3 Ul <A g fefafad 9 @ frad =@ 39 $ qm o Wi g 6 18 f6 ¥ 9 8 an =
YA R T g ?

Options :

91394383021. 196 1

913943830z2. 1000 "1

91394383023. L0 %1

91394383024. 100000 1

Question Number : 57 Question Id : 91394321135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following about Crude Birth Rate (CBR) of India for 2016 (Health and Family
Welfare Statistics in India, 2017) is correct ?

Options :
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91394383025, 154

91394383026, 04

91394383027, 224

91394383028, 244

Question Number : 57 Question Id ;: 91394321135 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

a¥ 2016 7 WRa <t arafesma o= g0 (H 5o, ) Frafafaa o & foeat ot 2 (Tarees ok 9far
FeaTo waHl 3hs, W, 2017)

Options :

91394383025, 154

91394383026, 04

91394383027, 224

91394383028, 244

Question Number : 58 Question Id : 91394321136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

The Health Committee that emphasized change in Medical Education to address health
needs of local population was

Options :

91394383029, Lrore Committee

91394383030, —parda Committee

91394383031, Crivastav Committee

91394383032, udaliar Committee

Question Number : 38 Question Id : 91394321136 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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fora wareen afife d wuria smard it vare gadt ravaFarst St U FA % fog smgfd fan &
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Options :

91394383028.

91394385030.

91394383021.

91394383032.

R wfirfa

yier afifa

sfrareaa afifa

e i
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Question Number : 39 Question Id : 91394321137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Global Hunger Index combines the following three equally weighted indicators :

Options :

913943335033.

91394335034.

91394335035.

91394335036.

Undernourishment, child underweight and child mortality

Undernourishment, infant underweight and infant mortality

Undernourishment, child underweight and infant mortality

Undernourishment, infant underweight and child mortality

Question Number : 39 Question Id : 91394321137 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

It ya guos (3w, ) Frefealas 3 f6 9 o aam 9 Tt gt -t 99ieH 2 2

Options :

91394333033.

91394383034.

91394333035.

91394333036.

AT 90T, ST I F9 FHH 1 IR T g [

31 diwor, Ry o1 o 0 g R Ry g

31T 90T, |icish 1 oo A g1 3R B g

e qrwvr, Ty ot a9 0 g ol w1 g
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Question Number : 60 Question Id : 91394321138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which country led the way by instituting compulsory sickness insurance in 1983 ?

Options :

913943385037. bES

Germany
91394333038,

91394335039. b

91394383040, CUP2

Question Number : 60 Question Id : 91394321138 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frefafad § @ R-ar < ad 1983 % i T € 3@ w1 surh v 3 @1 2
Options :

garges ferren

91394383037

91394385033.

qgaq T I
91394383039,

91394335040,

Question Number : 61 Question Id ;: 91394321139 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

The second dose of measles recommended by Technical Advisory Group is to be given to
children in states with less than 80% coverage at which of the following age ranges ?

Options :

9 months to 10 years
91394383041,

9 months to 5 years
91394383042,

16 months to 5 years
91394333043,
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16 months to 10 years
91394383044,

Question Number : 61 Question Id : 91394321139 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

qermih! HellghR T Rl T&gd @aU W % e S @l QU T8 T4l & a1l il 4f SHI 8 5@l
HTEToh! o <IRTSRTUT Sl TEAT (coverage) 80% & 4 Bl | 8 99-97 fRag A G T g ?

Options :

9NEH 109
91394383041. i

9HTE QA 594
91394383042, e

16HE A 5%
91394383043. L

16WE A 10 ¥
91394383044,

Question Number : 62 Question Id : 91394321140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
First step to be followed for planning curriculum on research methodology for MPH students

would be
Options :

Preparing schedule
91394383045, &

Preparing teaching material
91394383046, j &

Identifying resource persons
91394383047, s i

Framing learning objectives
913943330483,

Question Number : 62 Question Id : 91394321140 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

.t ug, faenffat o fore ma ggfa # e aresr=rat o fon s 99 arer ggan g 2
Options :

Fr- A7 TR
91394383045,
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91394383046. R

"o e A orer safya (Rad wed=) < wesm s
91394333047

91394383048, e T e

Question Number : 63 Question Id : 91394321141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
If the correlation between two variables is 2, it suggests

Options :

Poor positive correlation
913943330483,

Stron itive correlation
91394383050, i

Incomplete information to comment on
91394383051,

91394383050 Lneorrect calculation of correlation

Question Number : 63 Question Id : 91394321141 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gfe 2t =Tt % ne gg-gay 2 B, 98 Ffafas 4 @ feowr glas 2 2
Options :

7 G Tg-Hag
91394333049,

91394383050.

38 W ferooft S % forg 21qef serd 2
91394383051.

Hg-g44 1 Tad IRehas
91394383052,

Question Number : 64 Question Id : 91394321142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
When in a population the fertility declines and life expectancy increases

Options :



Www.prepp.in . repp

Your Personal Exams Guide

Both child dependency and old age dependency decrease.
91294=28305=. s 24 - SR o

Both child dependency and old age dependency increase.
91384383054, pe ¥ ge depe d

Child dependency decreases and old age dependency increases.
91394383055, = o FRCepe Ci

Child dependency increases and old age dependency decreases.
913894383056, P 2 SHA K

Question Number : 64 Question Id : 91394321142 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

St fopeft amrardt § mfaror # firrae aneft 2 ofit S eraftr wg ot 2
Options :

are faviean iR Steracen fsitan AT 4 firree 2wt 2 |
91394383053,

ffeat ot 3
91394383054 Fagrare Al 3 Tl B @ |

i 4 firrae ot 2 @R ke &
91304383055, 2 SR ggrae Tgradt gt & |

aret v siget 2 o ggracen fsfear ® S+t ot R |
91394383056, e ?

Question Number : 65 Question Id : 91394321143 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The first International Conference on Health Promotion was held in November 1986 in

Options :

91394383057, Ceneva

91394383058, OHawa

Washington
91394383058%. g

91394383060, maAta

Question Number : 65 Question Id : 91394321143 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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Options :

91394383057.

91394333053.

9139438305%.

91394383060.

EC]

e T
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Question Number : 66 Question Id : 91394321144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The population doubles in size in less than 35 years when the annual growth rate is

Options :

91394335061.

91394335062.

91394335063.

91394335064,

0-5% to 1-0%

1-0% to 1-5%

1-5% to 2-0%

2:0% to 2-5%

Question Number : 66 Question Id : 91394321144 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

35 99 @ FH GEATE § SHEEH QUL B I 7 S i e e

Options :

91394383061.

913943830€2.

91394383063,

913943830¢&4.

0-5 s & 1-0 gfersra

1-0 Yfawia 4 1-5 sfawg

1-5 gfewa & 2-0 Sfowa

2.0 gfersra | 2-5 yfawra
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Question Number : 67 Question Id : 91394321145 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The social and environmental factors that influence human reproduction are
(i) Age at marriage

(ii) Economic status

(iii) Role of women in society

(iv) Literacy of women
Choose the correct answer from the code given below :

Code:
Options :
i), (ii) and (iii
913943833065, @, ) (i)
i), (ii) and (iv
91394383066, @, ) ()
i), (iii) and (iv
91394383067, @t )
i), (ii), (iii) and (iv
91394383068, @, (), @) W

Question Number : 67 Question Id : 91394321145 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

OIS T <t SRR A et wrmhie it sl s §
(i) foarg & wwa oy

(ii) e feufer

(i) 9T ¥ Afgenatt it yfH

(iv) fgenedt i qara

fre e me 52 # | wd IW = g

R
Options :

91394333065, , () 3R (i)

(1), (ii) 3R (iv)
91294283066,

- ’ T a:ﬁI -
91394383067, ity 0

91394333068, 0, (@, (i) 3 @)
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Question Number : 68 Question Id : 91394321146 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Each patient serves as his own control in

Options :

Concurrent allel study design
91394383068%. = 5

Crossover type of study desi
91394383070, 4 &

91394383071, ©reventive trials

91394383072, Tusk factor trials

Question Number : 68 Question Id : 91394321146 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafefas 7 @ forot yees Tt o1 T o Frsor o il et 8 2
Options :

91394383063,

91394383070.

91394383071. T

91394383072

Question Number : 69 Question Id : 91394321147 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The test done to assess the usability of a freeze sensitive vaccine is

Options :

91394383073, —pake test

91394383074, opick test

Sensitivity test
91394383075,
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91394383075, ¥ ' indicator

Question Number : 69 Question Id : 91394321147 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Pr-|ad It s IUraT i qearena s & fere feram e wltanor 2
Options :

91394383073, B

91394383074, R e

gdceieran qham

913943283075.

... qg=s
91394383076.

Question Number : 70 Question Id ;: 91394321148 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Under conditions of non-normality, all of the following techniques are recommended except
one
Options :

Bootstrap methods
91394383077.

91394383075, raditional t-test

91394383079, 1 Crmutation tests

91394323080, Distribution free methods

Question Number : 70 Question Id : 91394321148 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A 78 3R (FA-TRE) i qm § Frafafas § 2 fra aofie 9t 18 staamn s =i 2
Options :

g fafu

91394383077.

91394383078, AR -5
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91394383079, e
ferao waa fafr
913943383080.
Sub-Section Number: 2
Sub-Section Id: 9139431121
Question Shuffling Allowed : Yes

Question Number : 71 Question Id : 91394321149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are true about a ‘case study’ ?

(i) Itisa method of exploring and analyzing the life of a social unit.
(ii) It collects a small amount of information from a large number of units.

(iii) It aims to determine the factors that account for the complex behaviour pattern of the
unit.

(iv) It can yield valuable data about the unit studied.
Choose the correct answer from the code given below :

Code:
Options :
i), (iii) and (iv) are correct
913943830831, @, (i oL
(ii), (iii) and (iv) are correct
913943833082,
(1), (ii) and (iii) are correct
91394383083,
(1), (ii) and (iv) are correct
913943833034,

Question Number : 71 Question Id : 91394321149 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Aot AEEE (F9 =) IR H HE-A YT E 2 ?
(i) I8 IR T o Sia 1 9a1 @M 3R 9o fazemor f agf
21

(i) T 90 A THhl @ TG STHHH Thiord st It |
(iii) FHHI LT T % AledA SHEER YA o Hh! it ARG FE1 2 |

(iv) THE ANERF 5T 7T s % ar # el STHH e B Wehdl § |
fre R e 32 & | 7 IW F g

R
Options :

91394383081, ®, (i) AR (i) T &

", e ﬂz .
SEASEEEEE (i), (iii) (iv) a8 §

91394333083, ), () 3R (i) T 2

91394333084. , (i) 3 iv) 70 g

Question Number : 72 Question Id : 91394321150 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements regarding inactivated/killed vaccines are true ?

(i) They are more efficacious than live vaccines.
(ii) Booster injections are required in most cases.
(iii) They are less stable than live vaccines.

(iv) They are usually administrated by subcutaneous or intramuscular route.
Choose the correct answer from the code given below :

Code:
Options :

(1), (ii) and (iii) are correct
91394383085,

(1), (iii) and (iv) are correct
91394383086,

91394383087, O and (iv) are correct

(iii) and (iv) are correct
91394383088,
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Question Number : 72 Question Id : 91394321150 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

fAfsra fore momm e (Rhee) Al & e o Fefvfas st d a sRa adi 8 2
(i) FAa ha dar (ara o) i 210z st TEaES Eh E |

(ii) tferener Wl # g gl B Sea vedt R |
(iii) & @r3g IR H s T FBR A B

(iv) 378 QMI=aq: Jfacas a1 3ia-q7ft anf gre fean wmar @ |
fre g e %2 # | wd IW i g ;

R
Options :

91394333085, , (i 3 (i) 70 g

91394333036, , i) 3 (v) T &

91394383087, 3R (iv) T @

91394333088, ) R (i) T

Question Number : 73 Question Id : 91394321151 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Milk-borne diseases include :

(i) Brucellosis

(i) Anthrax

(iii) Tuberculosis

(iv) Rabies

Choose the correct answer from the code given below :

Code:
Options :
(ii) and (iv) are correct
91394383089,

(1), (i) and (iii) are correct
91394383090,

(ii), (iii) and (iv) are correct
91394383091,

i), (ii), (iii) and (iv) are correct
91394333092, el ¥
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Question Number : 73 Question Id : 91394321151 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

gu-sitva T & fraferiaa A 3§ @ +R-ar afdfaa @ 2

() FHAEE

(i) =

(iii) TR

(iv) t&itw

A2 Ry e g 4 3 w8 Iw A P
B
Options :

01394383080, O TR THE

g g 3?[{ -

T
oi3gizegosy, ‘O RN
51394383092, O O @D I (iv) W &

Question Number : 74 Question Id : 91394321152 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following graphical presentations are used to represent qualitative data ?

(i) Bar chart

(ii) Pie diagram

(iii) Scatter diagram

(iv) Spot map

Choose the correct answer from the code given below :

Code:

Options :

91394385093.

913943283094,

91394383095.

91394335096.

(1), (ii) and (iv) are correct

(i) and (ii) are correct

(i) and (iii) are correct

(1), (iii) and (iv) are correct
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Question Number : 74 Question Id : 91394321152 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

ToTeHeh 3Tl i (REfdd A & fore Fefafiaa ¥ @ form Toha sreqefteron st s foma Sram @ 2

() IRER

(ii) 913 SHEU™

(iil) TheX SEU™

(iv) Tie Aq

fre g e %2 # | wd IW i g ;
B

Options :

91394333093, @, (i 3 (v) 70 8
91394333094 ® M @) wh g
91394333095, ® 3R (i) 7 2
91394333096 @, (i) 3 (v) T &

Question Number : 75 Question Id : 91394321153 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are common types of screening ?
(i) Mass screening
(ii) High risk or selective screening
(iii) Multiphasic screening
(iv) Prognostic screening
Choose the correct answer from the code given below :

Code:
Options :

(1), (iii) and (iv) are correct
91394383097,

(1), (ii) and (iii) are correct
913943830983,

i), (ii), (iii) and (iv) are correct
91394333099, el ¥

(i) and (ii) are correct
91394383100,
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Question Number : 75 Question Id : 91394321153 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
frafifas d @ SR-t g JR it A9 § ?

(i) g =

(i) I wifaw = wafia si=
(iti) =g =1 (Wicewhsm) s

(iv) qaigam i

fre g e %2 # | wd IW i g ;

B

Options :

91394383097.

91394333098.

91394383098.

91394335100.

(), (iii) 2R (iv) T 2

(1), (i) 3 (i) T 7

(@), (iD), (iii) 3 (iv) T8 &

(i) R (i) gt &

Question Number : 76 Question Id : 91394321154 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Under ESI, extended sickness benefit is payable for beneficiary suffering from

(i) Endogenous depression

(i) Diabetes Mellitus

(iii) Hypertension
(iv) Tuberculosis

Choose the correct answer from the code given below :

Code:

Options :

91394283101,

91394383102.

913943383103.

91394283104,

(i) and (ii) are correct

(ii) and (iii) are correct

(1), (ii) and (iv) are correct

(i) and (iv) are correct
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Question Number : 76 Question Id : 91394321154 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

3.09.9M8. % iq frfaftaa 9 @ fored 7% s < forg faaita wworar enveE 2 2

() awld =Edrg

(i) ernfahs afdea

(iii) FAfFaeE

(iv) Tl

fre g e %2 # | wd IW i g ;
B

Options :

91394383101, ® MR ) W B

912943283102, (i SR (i) T %

91394383103, ®, (i) 3 () TR %

91394383104, R (iv) T R

Question Number : 77 Question Id : 91394321155 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following statements are true about tuberculosis ?
(i) Risk of tuberculosis increases if the person is co-infected with HIV.
(i) Risk of tuberculosis increases if the person has diabetes.
(iii) Tuberculosis is more prevalent in children.
(iv) Tuberculosis is an important cause of infertility in India.
Choose the correct answer from the code given below :

Code:
Options :

i), (ii) and (iv) are correct
913943331065. Wit )

g139438310c, U0 and (i) are correct

(i) and (iv) are correct
91394383107,

(1), (i) and (iii) are correct
913943831083,
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Question Number : 77 Question Id : 91394321155 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

ks smi e i3 shasrad €2

() i+ saf v, . | agesria 3 @ T 1 "ot w8 S R |
(i) I foreft =afam =it wepite @ ot TS 1 @a @ =TT § |

(iii) TR 1 ==t 7 Afers @ wea 2 |

(iv) T wrea # wisI 1 T HEYl B R |

fre g e %2 # | wd IW i g ;

R
Options :

91394333105, @, (i 3 (v) 70 8

91394383106, R (i) T

91394383107, SR Giv) T

91394333108. ), (D) 3R (i) F0 8

Question Number : 78 Question Id : 91394321156 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following situations satisfy Z-test assumptions ?
(i) Sampling distribution of variables is normal.

(ii) Population distribution is mound shaped and asymmetrical.
(ili) Standard deviation of population (o) is known.

(iv) Prominently skewed population with large sample size.
Choose the correct answer from the code given below :

Code:
Options :

(1), (i) and (iii) are correct
913943831089,

(1), (iii) and (iv) are correct
91394383110,

91394383111, O and (i) are correct

(ii) and (iii) are correct
91394383112,
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Question Number : 78 Question Id : 91394321156 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Freafafaa @ @ SR-H FRfaat S adeon 3gam F sgeq § 2
) =t et faao g R

(i) SEEan faaton get % R i IR b gt 2 |
(i) FEEET F AR (=T (o) TG 2 |

(iv) Tq@q: foon saoaem fgew frgel SR geq B R |
fre g e %2 # | wd IW i g ;

R
Options :

91394333109 , (i 3 (i) 70 g

91394333110. , i) 3 (v) T &

91394383111, (D) 3R (i) 7 2

91394383112 W R (i) ¥ B

Question Number : 79 Question Id : 91394321157 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Methods of sewage treatment include
(i) Land treatment

(ii) Composting

(iii) Oxidation ditches

(iv) Controlled tipping

Choose the correct answer from the code given below :

Code:
Options :

(i) and (iii) are correct
91394383113,

sisgangaLs O end{iv)arecorrect

(1), (i) and (iii) are correct
91394383115,

(ii), (iii) and (iv) are correct
91394383116,
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Question Number : 79 Question Id : 91394321157 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

nerere (de) aa <t fafer o afdifeag 8
@ o Mem (e Hedie)

(ii) RS T (FRAfeT)

(i) ST T3 (HiTrrevH fee)
(iv) Frafia w9 @ sz (Fgies i)
fre g e %2 # | wd IW i g ;

R
Options :

91394383113, 3R (i) W @

91394383114, R (iv) T 3

91394383115, ®, (i) 3 i) 99 T

91394333116 (i), (i) 3R (iv) T0 R

Question Number : 80 Question Id : 91394321158 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following are temporary social groups ?
(i) The crowd
(ii) The band
(iii) The mob

(iv) The herd
Choose the correct answer from the code given below :

Code:
Options :

(1), (i) and (iii) are correct
91394383117,

(1), (iii) and (iv) are correct
91394383118.

(i) and (iii) are correct
91394383119,

91394383120, O and (iv) are correct
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Question Number : 80 Question Id : 91394321158 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Feafafag # @ SR-3 sreurh aoncer T g & ?

() WS (FRs)

(i) <t (d8)

(iii) SEg (A1)

(iv) 73 (39)

fre g e %2 # | wd IW i g ;

B

Options :

91394383117.

91394383118.

913943831189.

91394385120.

(1), (i) 3 (iii) T B

(@), (i) 3 (iv) Tt &

(i) 3 i) T

(i) 3N (iv) T 3

Question Number : 81 Question Id : 91394321159 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following is true about Cholera ?
(i) Caused by V. Cholerae

(ii) Incubation period is 15 days

(iii) Transmission is closely linked to inadequate environmental management

(iv) Global threat to public health

Choose the correct answer from the code given below :

Code:

Options :

913943383121.

91384383122

91384333123.

91394383124.

(1), (iii) and (iv) are correct

(1), (ii) and (iii) are correct

(1), (ii) and (iv) are correct

(ii) and (iv) are correct
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Question Number : 81 Question Id : 91394321159 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

&1 % Hag A HH-3 T TR E 2

() gt SR FwfRa Fa g |

(i) FER I rafyr 15 o i St & |

(iii) TR TEWT HYATC TGOS Jag | TEAaTgES q9g 2 |
(iv) I8 Wi Tareed & fow Affas @au g |

fre g e %2 # | wd IW i g ;

R
Options :

91394333121, @, i) 3 iv) T

91394383122 , (D) 3 (i) T0 g

R — (i), (i) R (iv) 9t B

91394383104 W R (i) T 7

Question Number : 82 Question Id : 91394321160 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following sciences are included in ‘behavioural
sciences’ ?

(i) Sociology
(ii) Political science
(iii) Social psychology
(iv) Social anthropology
Choose the correct answer from the code given below :
Code:
Options :
(i) and (ii) are correct

91394383125.

giagazgsyps, T and (iv)are correct

i), (iii) and (iv) are correct
91394333127. Whdiig )

i), (ii), (iii) and (iv) are correct
91394333128, U L o
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Question Number : 82 Question Id : 91394321160 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

‘it e #§ sR-a e mite § 2
() THTITEA

(i) Tt

(iii) TR TR

(iv) |t 3-Rem

fre g e %2 # | wd IW i g ;

R
Options :

91394383105, 3R (i) W @

91394383106, O R (iv) T 3

91394383127, ®, (i) AR (iv) T &

91394333128, ), (D, (i) R (iv) T &

Question Number : 83 Question Id : 91394321161 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Water seals perform following functions :

(i) They prevent access to flies.

(i) They prevent escape of odours and foul gases.
(iii) They prevent collapse of side wall.

(iv) They give privacy.

Choose the correct answer from the code given below :

Code:
Options :
(i) and (ii) are correct
91394383129,

91394383130, O and (i) are correct

(i) and (iv) are correct
91394383131,

i), (ii), (iii) and (iv) are correct
91394383132, @, (@, G5 )
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Question Number : 83 Question Id : 91394321161 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

() a7 ufRaat % Afem =it Uhd B |

(i) T 9 % Y R glg H T I d Ahd 8 |
(iii) Ig w7 < EarR g A Thad £ |

(iv) 398 oot 1 T B R |

fre g e %2 # | wd IW i g ;

B

Options :

91394383129.

913943831=0.

91394385131.

91394383132.

(@) 3 (i) T &

(i) 3R (iii) T g

(i) 3 (iv) Tdt 3

(), (i), (iii) 3 (iv) TR &

Question Number : 84 Question Id : 91394321162 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Which of the following statements about the enzootic cycle of Japanese encephalitis are

true ?

(i) Incidental hosts include horses, cattle and man.
(ii) Domestic pigs are amplifying hosts.
(iii) Man is an incidental dead end host.

(iv) Infected pigs manifest overt symptoms.

Choose the correct answer from the code given below :

Code:

Options :

91394383133.

913394333134.

91394383135.

(1), (ii) and (iii) are correct

(1), (ii) and (iv) are correct

(1), (iii) and (iv) are correct
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(ii), (iii) and (iv) are correct
913943831326,

Question Number : 84 Question Id : 91394321162 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

ST TrRbeEld % e S S R A FefiRaa f A A T ad 8 2
() R A | R, vy ok gev it § )

(i) AT GIN 9ga T USEH % |

(iii) A AT ifem Ava= § |

(iv) TG GIR A TIC G Yeiiia &t 2 |

fr Ry e %2 # | wdH W+ 7w ;

%<
Options :

91394333133, 0, (D) 3R (i) 0 §

91394333134 ), () 3R (iv) T &

91394383135, ®, (i) AR () T &

91394333136 (i), (i) 3R (iv) e &

Question Number : 85 Question Id : 91394321163 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following ‘intranatal services’ are essential in an MCH type B subcentre ?
(i) Managing labour using partograph
(i) Identification and management of danger signs during labour
(iii) Provision of a newborn care corner

(iv) Minimum stay of 48 hours for mother and baby after delivery
Choose the correct answer from the code given below :

Code:

Options :

(i) and (ii) are correct
91394383137,

(1), (ii) and (iv) are correct
91394383138,

91394383139, O and (i) are correct
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(ii), (iii) and (iv) are correct
91394383140.

Question Number : 85 Question Id : 91394321163 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frafafas yaa wefi= dared 3 @ se-ar .d.1e. 7 ot 39 ° Afart § 2
() YIRTS i AT F T6a T4

(i) JEF % GRE AR * T 1 5= HJR 76 "y

(iii) ARG CEWTA PR I TG

(iv) a3 T qraT AR R A e 48 W2 9% I

fr Ry e %2 # | wdH W+ 7w ;

%<
Options :

91394283137, UALTALL

91394383138, ®, @) 3R () T &

91394383130, W 3R (i) T

91394333140. (i), (i) 3R (iv) 70

Question Number : 86 Question Id : 91394321164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Regarding Health Education, which of the following statements are true ?
(i) It instills knowledge in the minds of people.
(ii) It disciplines primitive desires of people.
(iii) It appeals to reason.
(iv) It appeals to emotion.
Choose the correct answer from the code given below :

Code:
Options :
(1), (ii) and (iii) are correct
91394383141,
(ii), (iii) and (iv) are correct
913943833142,

(ii) and (iii) are correct
91394383143,
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91394383144, O 8nd V) are correct

Question Number : 86 Question Id : 91394321164 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

wareeq fien 3 ag ¥ Feafofas st d a sRa adt § 2
() I8 & % At # A WA 2 |

(i) a7 Sl B gt georell wt s w2 |

(iii) Y8 Toh ! If HET 2 |

(iv) g 13t it 3fied Rt 2 |

fre e me 52 # | ¥ IW = g

C -5

Options :

91394333141, @, (i 3 (i) 70 8
91394383142, (i), (i) 3R (iv) T %
91394333143, (i 3 (i) e
91394383144 O R (iv) T &

Question Number : 87 Question Id : 91394321165 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

The National Health Programmes launched during third five year plan included
(i) National Smallpox Eradication Programme
(ii) National Family Welfare Programme
(iii) National Tuberculosis Control Programme
(iv) National Leprosy Control Programme
Choose the correct answer from the code given below :
Code:
Options :
(1) and (iii) are correct

9139428314%.

(ii) and (iv) are correct
91394383146,

91394383147, ) and (V) are correct
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sizgazasyan h) andiiv)are orrect

Question Number : 87 Question Id : 91394321165 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
et et o & ST R TG T e R
(i) TS ==h I FrsH1 (National Smallpox Eradication Programme)
(i) TSR IiEr S FdsHY (National Family Welfare Programme)
(iii) T ufesn frmor Rl (National Tuberculosis Control Programme)
(iv) T m forsor rfshe (National Leprosy Control Programme)
fre e me 52 # | ¥ IW = g

R
Options :

91394383145, 3 (i) ¥l &

91394383146, R (iv) T R

91394383147, SR (iv) W

91394383148, W) R (i) T

Question Number : 88 Question Id : 91394321166 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Which of the following are the selection criteria for Accedited Social Health Activist (ASHA)
workers ?

(i) She must be a resident of the village.
(ii) She should be preferably from the age group of 25 to 45 years.

(iii) She should be a graduate, preferably science graduate,

(iv) She should have communication gkills and leadership qualities.
Choose the correct answer from the code given below :

Code:
Options :

(1), (ii) and (iv) are correct
913943831489,

i), (ii), (iii) and (iv) are correct
91394333150. (05 )l e
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91394383151, ) and () are correct

(1), (ii) and (iii) are correct
91394383152,

Question Number : 88 Question Id : 91394321166 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
SR ATHINGh TARee FRidhdl (M) Fi =47 qHee MHefafag 3 3 sH-4 § 2
(i) 3% 7 it Pardt S wife )
(i) 3 AREFa: 26 | 45 9 % oY TR Ft T AT |
(iii) 38 g Aftmra: fagm e 2 =nfge )

(iv) 398 Fa1R S R AT 00 2T =i |
fre e me 52 # | ¥ IW = g

6

Options :

91394333149, @, (i 3 (v) 70 g
- (1), (i), (i) I (iv) T B
91394333151, ® 3R i) ¥ 8
91394383152 0, (D) 3R (i) T0 8

Sub-Section Number: A
Sub-Section Id: 09139431122
Question Shuffling Allowed : Yes

Question Number : 89 Question Id : 91394321167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Case control studies rank higher than cohort studies for strength of evidence.
Reason (R): Case control studies are best suited for rare diseases.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383153,
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383154,

(A) is true, but (R) is false.
91394383155.

(A) is false, but (R) is true.
91394383156,

Question Number : 89 Question Id : 91394321167 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A= qt Y= fGT 7 g, Fod @ T iR (A) B 3 8T 7 (R) @ | oAl =t afey ok = fag e

% 1 AT R GE IR YA |

HAFAT (A) : AT Y Tiegt < Tore e TAemor ererat =t o wgmor sreqgAt A got |§ S BT
g1

a# (R) : w4 Framor seam gev M % fore waiftes I aie B |
Options :

A) 3R Tl (R), (A) *h T =ar&T
91394383153 (R) TH1 Tt & 941 (R), (A) H 7@ 21

(A) 3 (R) 31 T8t €, T (R), (A) ht Wl =amem &1 |
91394383154,

A) y (R)Tdd = |
91394383155. { Hﬁ’l%’q’@ h

A) Teld =, R |
91394383156. { ® b Y

Question Number : 90 Question Id : 91394321168 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (4) : The sensitivity and the specificity of a test remains constant when applied on
different populations.

Reason (R): The positive and negative predictive value of the same screening test may
vary in different populations.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383157,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383158,

(A) is true, but (R) is false.
91394383159.
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(A) is false, but (R) is true.
913943831&0.

Question Number : 90 Question Id : 91394321168 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 QY Fom R e E, il & o afiepem (A) § ot ggu 7 (R) % | Sl it afge oft A9 Ry g
%< I AN F T ST G |
T (A) : Tt wleror it wagasfiaran o fafirea 38 im-fm seen ol = s
fopn ot W ot TR = wd R

T (R) : & Shiff/adaor & aereas R TR gaigHEees 7F faftm saaen g
EHT-AAT A T ¢ |

Options :

a4t el
91294383157, ) S (R) 31 et & 9901 (R), (A) &l 2l

(A) 3R (R) gt Tt 8, 7g (R), (A) i Tt sarem TEi § |
9123942383158,

A) 3 R)Tdd = |
913894383159%. W R ?

(A)Ted 8, g (R) Tt 2 |
91394383160.

Question Number : 91 Question Id : 91394321169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (4) : Low Birth Weight (LBW) continues to be an important neonatal health
problem in India.

Reason (R):  Most important cause for LBW is increasing trend of smoking amongst
Indian women.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383161,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383162,

(A) is true, but (R) is false.
91394383163,

(A) is false, but (R) is true.
91394383164,

Question Number : 91 Question Id : 91394321169 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

= & sy Ry &, fomit @ o aifiehem (A) R iR g ok (R) ® | et Bt o ofi AR Ry g

%e T TN N AG I AT |

7Y (A) : FH % THY FH IH (TA. .35, ) WRT | T Hgeaqol Faaira Tarees gt =41 gatl
21

T (R) : S % GHT FH I5 1 Gaiiern Hgeaqol HRo R Afgene § gy it wgd yaf
21

Options :

aal $I El TS
91394383161 () 3T (R) T TEl & T (R), (A) 1 &l 2l

(A) 3 (R) gHt Tt 8, g (R), (A) i Tt =amem 76 ¢ |
912394283162,

(A) Tt 3, g (R) Teid 2 |
91394383163

(A)TTed 8, Rg (R) adi 2 |
91394383164

Question Number : 92 Question Id : 91394321170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Worldwide, there is a rising trend of emergence of drug resistant strains of
Reason (R): Use of counterfeit/sub-therapeutic antimicrobial agents is increasing globally.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383165,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943383166,

(A) is true, but (R) is false.
91394383167.

(A) is false, but (R) is true.
91394383165,

Question Number : 92 Question Id : 91394321170 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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A9 @ Fom R e E, Rl d o aifiepem (A) # ot ggu 7 (R) % | el 1 ufge oft AR Ry g
e I TN B TG T A |
s (4) ;R Fea & g R R Seidl % 3ava A wedt vah |

T# (R) : Teheit/39-3q=l Fhd] SRR TR R Rm A w R |
Options :

a1 TSl
91294383185, S (R) 31 et & 9901 (R), (A) &l 2l

(A) 3R (R) gt Tt 8, 7g (R), (A) i Tt sarem T6i © |
9123942383166,

A) 3 R)Tdd = |
913894353167. W R ?

(A)Ted 8, g (R) Tt 2 |
91394383168,

Question Number : 93 Question Id : 91394321171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The majority of infant deaths in Tamil Nadu occur during the neonatal
period.
Reason (R):  Tamil Nadu has successfully reduced post neonatal deaths.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91294283169,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383170,

(A) is true, but (R) is false.
91394383171,

(A) is false, but (R) is true.
91394383172,

Question Number : 93 Question Id : 91394321171 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= & sy g T &, it @ o e (A) R ofR g ok (R) % | et Y o ok AR R g

FE TN F qEl IR T |

St (A) : TeTg § Taa Rt A what § @ s 9 T S v, yeendt s
A BT &

THR): NS I S IR, PR afy # g1 areft Hital i e T FH § A | R |

Options :



Www.prepp.in . repp

Your Personal Exams Guide

ST
91394323169, () 3T (R) T TEl & T (R), (A) =l 2l

(A) 3 (R) 31 T8t €, T (R), (A) ht Wl =amem &1 # |
91394383170,

A) A R)Tcd = |
912943283171, BT, LR !

(A)Ted 8, g (R) Tt 2 |
91394383172,

Question Number : 94 Question Id ;: 91394321172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Development of private health sector needs to be discouraged in the country.
Reason (R): Most people in the country cannot afford private health care cost.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383173,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383174,

(A) is true, but (R) is false.
91394383175.

(A) is false, but (R) is true.
91394383176.

Question Number : 94 Question Id : 91394321172 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

5 3t o g T &, il @ o e (A) R iR g@m Tk (R) ® | et Bt ol ofi AR Ry g
e I TN B TG I A |
AfFgT (4) ;<0 ° T-anrl e & o o i gacnfza Fresm hH e 2

d (R) : o9 ¥ AR | -anrtt wareen ai=mt i ane B 951 T AR 2 )
Options :

A) 3 (R Tt (R), (A) *h Gt =qr&a
91394383173 (R) 3H1 7t & 741 (R), (A) it &l 21

(A) 3R (R) 1 9&t 2, g (R), (A) i &t =are1 741 2 |
91394383174,
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A) ) R)Tcd = |
91294383175, BT, T B !

(A)TTed 8, g (R) Tt 2 |
91394383176,

Question Number : 95 Question Id : 91394321173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : A Breast Feeding Hospital Initiative (BFHI), has resulted in very high
exclusive breast feeding rates in India.

Reason (R):  With JSY and JSSK, proportion of facility based deliveries has remarkably
increased.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383177,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943831783,

(A) is true, but (R) is false.
91394383179.

(A) is false, but (R) is true.
91394383180.

Question Number : 95 Question Id : 91394321173 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 @ Fom R e E, Rl @ o aifiepem (A) § ot ggu 7 (R) % | el it ufge oft AR Ry g
e I TN H TqE AL A |
SR (A) : T 19T Yee (<. ue. U, o1E. ) o qRumaEy uid o o weE hr |l
it T T WO T E |
a# (R) : I.0E. 918, R A.TE.TE.F. % IR 7 | giaun suaiia yaEt %S9 1 IgEE
e

Options :

A) 3R Tl (R), (A) *h T =ar&T
91304383177, (R) 3F1 7t & 741 (R), (A) it &l 21

(A) 3 (R) 31 T8t €, T (R), (A) ht Wl =amem &1 # |
91394383178,

A) y (R)Tdd = |
91394383179. { Hﬁ’l%’q’@ ?
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(A) Tad B, WG (R)TH B |

Question Number : 96 Question Id ; 91394321174 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Options :

913943835181.

91394383132.

91294283183,

91394385134.

Higher incidence of hypertension is found in Japan where sodium intake is
above 400 m mol/day.

A high salt intake increases the blood pressure proportionately.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 96 Question Id : 91394321174 Question Type : MC(Q Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

= @ o R e B, i & o fiehem (A) R oft g @ (R) B | FuAl i afee ofit i fag g
% 1 AT F GE IR G |

ST (A) :

a® (R) :

Options :

91394333181.

91394383182.

91394383183.

91394385154.

SaE # feaara % wHer it @ # 9 Sie § wgl Aer 4 gifeaw < e
400 Tt Ade/afs @ s St 2 |

SRR & 9% I 4T Tg™ A 99 =9 H AAIaS T4 & Sa-it & g B T B

(A) 3R (R) T Tt § 791 (R), (A) i 98t sqr& B |

(A) IR (R) T 7Rt 3, &g (R), (A) i Tt =areqn 741 2 |

(A)TE 8, T (R) Toid 7 |

(A)TEd 8, g (R FET 7 |

Question Number : 97 Question Id : 91394321175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Agsertion (A) : The levels of prevention include the period of pre-pathogenesis and the
period of pathogenesis.
Reason (R):  Clinical medicine is not included in the levels of prevention.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383185,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
913943383186,

(A) is true, but (R) is false.
91394383187.

(A) is false, but (R) is true.
91394383188.

Question Number : 97 Question Id : 91394321175 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A5 Q Fo ey &, o @ w aifdrepy (A)  ofit g@u 6 (R) ® 1 el 9 iy afi S R e
Fe il AT F gal IW AT |
YT (A) :  UHAT % Tl # WroFA & Td it sraftr ik Torsem srafy wiftra gieft 2 |

% (R) : THY™ + TqU A g fufer St it 72 forem sman 8 |
Options :

a4t Sl
91294383185, S (R) ST et & 9 (R), (A) 1 =l 2l

(A) 3 (R) 1 98t 8, 9%q (R), (A) i &t <ot 761 2 |
91394383186.

A) , W (R)Ted & |
91294383187, SALLAS !

(A) a2, WG (R) |t 2 |
91394383183,

Question Number : 9§ Question Id : 91394321176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (4) : A dose of 005 ml of BCG is given to newborns below one month of age.

Reason (R):  The skin of the newborn is thin and intradermal injection of 0-1 ml may
break the skin or penetrate in deeper tissues and cause local abscess and
enlarged lymph nodes.

Options :
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Both (A) and (R) are true and (R) is the correct explanation of (A).
91294283189,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383190,

(A) is true, but (R) is false.
91394383191,

(A) is false, but (R) is true.
91394383192,

Question Number : 98 Question Id : 91394321176 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= 3t o g e §, fomd @ o it (A) R o g0 7 (R) B | Sl i afge offt = fig o
e I TN B TG 9L A |

HUFYA (A): T AR VT AR S Fa=ra Rrgedt A 4850, i 0-05 freh et At o goes §
St 7 |

@& (R) : Fastra Targy < w=n yad gidl 2 3R 0-1 Fredt X % 31a:w T | &9 B
el B I I ATAND Faoht A JAY H ThaT ¢ Frash HRo1 38 WM R BT
A qehal g AR a9 1§ aRadR § TR R |

Options :

a9t ST
91294383180, S (R) 31 et & 91 (R), (A) 1 =l 2l

(A) 3 (R) gH1 Tt 8, g (R), (A) i Tt =amem T § |
912394283190,

A) 3 R)TeAd = |
91394353191, W R !

A) Teld &, R) |
91394383192. : %m( e

Question Number : 99 Question Id : 91394321177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The epidemiological triad is based on communicable disease model and is
useful in showing the interaction and interdependence of agent-host
environment and time as used in the investigation of diseases and

epidemics.

Reason (R):  The epidemiological triad is applicable to even non-communicable diseases
after making a few modifications.

Options :
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91294283133,

91394385194.

91394383195.

91394333196.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.
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Question Number : 99 Question Id : 91394321177 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A= 3t o g e §, fomd @ o it (A) R o g0 7 (R) B | Sl i afge offt = fig o
e I TN B TG 9L A |

ST (A) :

d# (R) :

Options :

91394383193.

91294283194,

913943831 95.

913943831 96.

wemrifasm gesft s=ft gl A aies W sl 2 i 98 USie-2Re SraTatyr a9t
AT & o Safshan IR SA=afutar i A & o It 3 Reenr seai am
it wermifEt h Sie-ggara d e ST 2 |

F9 YT A P TvErq Aemrifasm gadt st o sl W % faw oft sw
form st @@ B |

(A) 3R (R) 1 9&t B 71 (R), (A) i 98 =11 2 |

(A) 3 (R) <F1 Tt €, 9g (R), (A) i ot sarem 7di 7 |

(A)WEl 2, Tg (R) Teid 2 |

(A)TTEId 8, g (R) e 2 |

Question Number : 100 Question Id : 91394321178 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below,

Assertion (A) :

Reason (R) :

Options :

91294285197.

Morbidity data is essential for basic research even if mortality data is
available.

Morbidity data usually provides more comprehensive and more accurate and
clinically relevant information on patient characteristics than can be
obtained from mortality data.

Both (A) and (R) are true and (R) is the correct explanation of (A).
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Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383198&.

(A) is true, but (R) is false.
91394383199.

(A) is false, but (R) is true.
91394383200.

Question Number : 100 Question Id ; 91394321178 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

A= Q) Fom R e E, Rl @ o aifiepem (A) # ot ggu 7 (R) 7 | el it afge oft R Ry g

e I TN B TG I AT |

FYA (A) : Yo dadt Ahe Iqared g T ot sumg My % forg sreaeyran gt e v+
qd 3 |

a# (R) : FEaeUar gadl 3R W o AR o gay o gog dadl kst d Mo g+ arat
gt B gEE | wel it faeqa iR wE it vt 3t g gfte @ T gen
IqAH A 2 |

Options :

a1 ST
91294383197, S (R) 31 &t & 9901 (R), (A) 1 =l 2l

(A) 3 (R) 31 T8t €, T (R), (A) ht Tt =amem &1 2 |
91394383198,

A) A R)Tcd = |
91294283199 (RHE, T ) !

(A)Ted 8, g (R) Tt 2 |
91394383200.

Question Number : 101 Question Id : 91394321179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Obesity is a proven high risk factor for development of diabetes mellitus.
Reason (R):  In obesity, insulin secretion is decreased.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383201,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383202,

(A) is true, but (R) is false.
913394383203.
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(A) is false, but (R) is true.
91394383204.

Question Number : 101 Question Id : 91394321179 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e qt = fGg 7 g, Ford @ T A (A) B 3 8T 7 (R) 3 | oAl =l 1y ok = fig e
e I TN B TG 9L A |

AT (A) : Wi SRfads Aferea sgq + fo farg srcafess Sifm st s 2

% (R) : wiewt #, $gfem 1 |9 w2 St g |
Options :

aal $I El TS
91394383201 () 3T (R) T TEl & T (R), (A) 1 &l 2l

(A) 3 (R) gHt Tt 8, g (R), (A) i Tt =amem 76 ¢ |
912394283202,

(A) Tt 3, g (R) Teid 2 |
91394383203

(A)TTed 8, Rg (R) adi 2 |
91394383204.

Question Number : 102 Question Id : 91394321180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Tuberculosis has non-specific determinants of the disease such as
improvement in the standard of living and the quality of life of the

people.
Reason (R):  The decline of deaths due to tuberculosis in technologically advanced
countries started before the advent of BCG or chemotherapy.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383205,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383206,

(A) is true, but (R) is false.
91394383207.

(A) is false, but (R) is true.
913394383208.

Question Number : 102 Question Id : 91394321180 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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= @ sy Ry T &, it A o e (A) ® R g ok (R) ® | et 1 o ol AR R g

% 1 AN L EqE I AT |

3firepe (A) : e | it % sifafiee Pafes 2d g 92 o6 it % S @ ot sfiem it o &
FUw |

T (R) : senfichr gfee & aa ot o A % $ro g arelt diat o e St @
Hreidedt oM & 72 G gE A o |

Options :

a9t ST
91294383205, S (R) 31 et & 901 (R), (A) 1 =l 2l

(A) 3 (R) gH1 Tt 8, g (R), (A) i Tt somem T € |
912394283206,

A) 3 R)TeAd = |
913894383207. W R !

A) Teld &, R) |
91394383203. : %m( e

Question Number : 103 Question Id : 91394321181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Asserfion (A) : Once a week cleaning of room coolers is recommended for dengue control.

Reason (R):  Extrinsic incubation period in Aedes mosquito is about seven days.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
913943832089,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383210,

(A) is true, but (R) is false.
91394383211.

(A) is false, but (R) is true.
91394383212.

Question Number : 103 Question Id : 91394321181 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e qt = fGg 7 g, Ford @ T A (A) B 3 8T 7 (R) 3 | oAl =l 1y ok = fig e
e I TN B TG 9L A |

AmeT (A) : Y e o fore woame o o A FR F TR B awE F g o T g
7 (R) : ufed T # ey JuaA afy e g R At R

Options :
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a1 ST
91294383200, S (R) 31 &t & 9901 (R), (A) =l 2l

(A) 3 (R) 31 T8t €, T (R), (A) ht Wl =amem &1 # |
91394383210,

A) A R)Tcd = |
91294283211, BT, LR !

(A)Ted 8, g (R) Tt 2 |
91394383212

Question Number : 104 Question Id ;: 91394321182 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : The local community generally morally condemns the drug addicts.

Reason (R):  The rehabilitation of the former drug users in most cases is a long and
difficult process.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383213,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91=294283214.

(A) is true, but (R) is false.
91394383215.

(A) is false, but (R) is true.
91394383216,

Question Number : 104 Question Id ;: 91394321182 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

A9 Q) Fom R e E, Rl 3 & e (A) § ot gga 7 (R) | Sl 1 afge oft A9 Ry g
% 1 TN F GE W YA |
HIYHYT (A) : TAHA T | A1 HIGHh 5od SAAA1 it Afqehal & FUR W g1 &t St 2 |

ah (R) : qEadl HIGH 559 saalEl 1 qHata st wwret § etatees R gEe B R |

Options :

A) 3 (R Tt (R), (A) *h Gt =qr&a
91394383213 (R) 3H1 7t & 741 (R), (A) it &l 21

(A) 3R (R) 1 9&t 2, g (R), (A) i &t =are1 741 2 |
91394383214,
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A) ) R)Tcd = |
912943283215, BT, T B !

(A)TTed 8, g (R) Tt 2 |
91394383216,

Question Number : 105 Question Id : 91394321183 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Sex ratio at birth can be affected by sex selectivity.

Reason (R):  Most countries in the world exibit a sex differential in mortality
unfavourable to women.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383217,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383218.

(A) is true, but (R) is false.
91394383219.

(A) is false, but (R) is true.
91394383220.

Question Number : 105 Question Id ;: 91394321183 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :

A gt %o QY e 8, o @ u iy (A) 2 3 @0 % (R) 2 | Al i ufee it e fog g
%2 I AN L e I g |
HIYHYT (A) : 1 % aua fermara fomr === gra nfaa g awar g |

@ (R) : faza % siftrriw 3t & ey % w7 o fadie e s @ S wivensit & wfoga ®
Options :

A) 3R gt (R), (A) *h Gt =ar&a
91304383217, (R) 3F1 7t & 74T (R), (A) it &l 21

(A) 3R (R) g1t 9t 2, 9%g (R), (A) i &t =amem 76 2 |
91394383218,

A) A R)Tdd = |
91294383214, WY, T ®) !

(A)TTed 8, WG (R) Tt 2 |
91394383220.
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Question Number : 106 Question Id : 91394321184 Question Type : MCQ Option Shuffling : Yes Display Question Number :
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) :

Reason (R) :

Options :

91294283221.

91394383222.

91394383223.

91394383224.

It is seldom possible to examine directly the various potential findings in an
ecological study.

In an ecological study, the unit of analysis is a group of people rather than
individuals.

Both (A) and (R) are true and (R) is the correct explanation of (A).

Both (A) and (R) are true, but (R) is not the correct explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

Question Number : 106 Question Id ;: 91394321184 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

= @ o Ry T €, fomit A o e (A) R ofR g w6 (R) % | et St o ok AR Ry g
%S 1 AN GG IW AT |

SFYT (A) :

dh (R) :

Options :

91394383221.

91394383222,

91294383223,

91394383224.

forelt wfcfeufoss sream # faftm gvrsa Prend =it witeror sver srre & sft dye &t
gt g |

foreft wiftfeufoa arergm 3 favermo it 3o =afee 7 S =afea-aqg St 2 |

(A) 3R (R) TH1 98t 8 791 (R), (A) it 98 A1 2 |

(A) 3R (R) 1 Tt 8, 7g (R), (A) i &t s 78 2 |

(A) Tt 8, T (R) Tea 7 |

(A)TEd 8, g (R) &1 & |

Question Number : 107 Question Id : 91394321185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Organization of health services in India should be designed to meet the
health needs and demands of the people.

Reason (R):  Planning the services according to felt needs of the people will lead to
wastage of resources as literacy rate in India is low.

Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383225,

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394333226. G G v 5 @

(A) is true, but (R) is false.
91394383227.

(A) is false, but (R) is true.
91394383228.

Question Number : 107 Question Id : 91394321185 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
A9 @ Fom Ru e E, Rl 3 o s (A) § ot gga 7 (R) % | oAl 1 afge oft 9 Ry g
%< T AN F T ST G |
ST (A) : ARG ¥ T U1 TSl sl 1 36 938 @ <hl St =fe 36 9 < 6 e
wadt wetat i Wi B g s |
T (R) : AT g HEgE Y TF T b IR e A9t it A TR FE d gangEt h
st grft it g § maRaT A AE R |

Options :

A) 3 (R T4t (R), (A) ht gt =area
91394383225, (R) 3l Wgl 2 79T (R), (A) A &l 21

(A) 3R (R) gt 9t 2, g (R), (A) i Gt =avem 76 2 |
91394383226,

(A) Tt 3, W (R) Teid 2 |
91394383227,

(A)TTed 8, g (R) Tt 2 |
91394383228,

Question Number : 108 Question Id : 91394321186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Given below are two statements, one labelled as Assertion (A) and the other labelled as
Reason (R). Read the statements and choose the correct answer using the code given below.

Assertion (A) : Indian society is a ‘closed class’ system.
Reason (R):  Indian society is rigidly based on caste system.
Options :

Both (A) and (R) are true and (R) is the correct explanation of (A).
91394383229.

Both (A) and (R) are true, but (R) is not the correct explanation of (A).
91394383230,

(A) is true, but (R) is false.
91394383231.

(A) is false, but (R) is true.
91394383232.

Question Number : 108 Question Id : 91394321186 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

A9 @ Fom R e E, Rl 3 o sl (A) § ot gga 7 (R) % | el it afge oft AR Ry g
% 1 TN R GE IR gAY |

ARHIT (A) :  yreevy wor # Feag W v d |
ah (R) : WRE T SHT QUi Shad Sfd-s4aeyT W 3ndTia 2 |

Options :

A) 3R Tt (R), (A) *h Gt =ar&a
91394383029, (R) TF1 Tt & 94T (R), (A) H 7@ 21

(A) 3R (R) g1t 9t 2, 9%g (R), (A) i &t =amem 76 2 |
91394383230,

(A) Tt 3, g (R) Teid 2 |
91394383231,

A) TEd 2, R [
91394383232 : b TI®R Y

Sub-Section Number: 4
Sub-Section Id: 9139431123
Question Shuffling Allowed : Yes

Question Number : 109 Question Id : 91394321187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Arrange the causes of death amongst children below one year of age (Year 2010 - 13,
Health and Family Welfare Statistics in India, 2017) as percentage of total deaths in

descending order

(i) Pnuemonia
(ii) Prematurity and low birth weight
(ili) Other non-communicable diseases

(iv) Birth asphyxia

Choose the correct answer from the code given below :

Code:

Options :

91394385233.

91394383234.

91394383235.

91394383236.

(1), (i), (id), (iv)

(i), (D, (iid), (iv)

(1), (i), (), (iii)

(id), (), (iv), (iii)

prepp
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Question Number : 109 Question Id : 91394321187 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T 99 A FH A ATehi ¥ T RO Dt (F§ 2010 — 18, ¥R | e AR IREGR Fedqmr
HiHg T 2017 % YR V) FFUL F4 ° T950

() =g

(ii) Raaaar safe & g 51 ok = & 99g F9 999

(iii) 37 TR-Hshraeh UM
(iv) 59 % @98 vehifRa

fre e me 52 & | w9 IR ) g

6

Options :

91394383233.

91384383234.

91394383235.

91394385236.

(1), (ii), (iii), (iv)

(i), (), (iid), (iv)

(1), (i), (i), (iii)

(i), (i), (), (iii)



Www.prepp.in . repp

Your Personal Exams Guide
Question Number : 110 Question Id : 91394321188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Correct chronological sequence of initiation of programmes/schemes is

Options :
Community Development Programme, Contributory Health Services Scheme (now CGHS),
School Health Programme, Rural Health Scheme

91394383237.
School Health Programme, Community Development Programme, Rural Health Scheme,
Contributory Health Services Scheme (now CGHS)

91394383238,
Community Development Programme, School Health Programme, Rural Health Scheme,
Contributory Health Services Scheme (now CGHS)

91394333239.
Rural Health Scheme, Community Development Programme, School Health Programme,
Contributory Health Services Scheme (now CGHS)

91394383240,

Question Number : 110 Question Id : 91394321188 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Frfsprl/chl & TV 1 L) FreEFIIAR F9
Options :

areiRe fashra il SRt e dard whm (o €5 w=.wd. ), et e srbed, arfi

91394383237.

THeAt TaTeen HrinH, TR faera wrbma, T Tarees whim, Srugrft e dard whe (3

i .5ft.e=.eg.)
91394383238

AR fahra Srlen, whelt Tareen Frbma, o warees whim, Srugrft e dard whe (3

.5 u=.ed. )
91394333239.

YTHioT TATEeR ThiM, FIETeh forehra hriseH, Whefl Treea hdshn, Avert Wieed Jar whm (e 4.

it.0=.14.)
91394333240.

Question Number : 111 Question Id : 91394321189 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Arrange in chronological order the programmes launched for Maternal health improvement.

Options :

Vande Mataram Scheme, Janani Suraksha Yojana, RCH, RMNCH + A
91394333241.
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Janani Suraksha Yojana, RCH, RMNCH + A, Vande Mataram Scheme
91394383242.

RCH, Janani Suraksha Yojana, RMNCH + A, Vande Mataram Scheme
91394383243,

RCH, Vande Mataram Scheme, Janani Suraksha Yojana, RMNCH + A
91394383244.

Question Number : 111 Question Id ;: 91394321189 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
HTq TS YR % fore Y& Tore T Frlhat i Fraspaar sqafeyd i |

Options :

2 A, S, SR g Ao, R, IR + T,
srpgum g T, AR HTE, +T

ST e AT, AL, IR UL HL TS, + T, 9 Hia Shi
91394333242,

RS, S g qeE, AR EHL . + T, whm
91394383243, Ty S , ARTHGEHLTE. + T, 90 qaH

AR e, 92 ey whi, St Tqrot, AR W, .HLTE, + T
91394383244, T, W g WEHHTE. +T

Question Number : 112 Question Id : 91394321190 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Yertical

Correct Marks : 2 Wrong Marks : 0

Correct chronological sequence of the Acts according to their year of promulgation is

Note: For this question, discrepancy is found in question/answer. So,this question is ignored for all
candidates.
Options :

Birth and Death Registration Act, Epidemic Diseases Act, Vaccination Act, Quarantine Act
91394383245,

Quarantine Act, Epidemic Diseases Act, Vaccination Act, Birth and Death Registration Act
91394333246.

Quarantine Act, Birth and Death Registration Act, Vaccination Act, Epidemic Diseases Act
91394333247.

Birth and Death Registration Act, Vaccination Act, Quarantine Act, Epidemic Diseases Act
91394383248,

Question Number : 112 Question Id ; 91394321190 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
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Frefafag sifuframt it 7% weamm % o % an 98 SemmTar W

Note: For this question, discrepancy is found in question/answer. So,this question 1s ignored for all
candidates.
Options :

w0 AR ey et sifufram, wemmd stfufam, e sfufam, o T
91394383245,

FIR-ER Ve, wemr e, e aftfrm, =1 ok gy e arfefrm
91394333246,

FAREA T2, S 3R gy Wrsiern arferfaem, dem srferfem, wemmdt srferfrm
91394383247,

w1 AR gey el siftfeem, St siffrm, sarda S, wemdt sl
91394333248,

Question Number : 113 Question Id : 91394321191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following immunization programmes in order of the year in which they were
launched :

Options :

EPI, UIP, CSSM, Mission Indradhanush
91394333249,

UIP, EPI, CSSM, Mission Indradhanush
91394333250.

EPI, CSSM, UIP, Mission Indradhanush
91394383251,

CSSM, EPI, UIP, Mission Indradhanush
91394383252,

Question Number : 113 Question Id : 91394321191 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Freafafas derm ST H 376 IE FHY IM % 99 % Hgar =Riem hifg
Options :
g, 3.0me. ., doua e w., e s
913943233249, P, T et

3., 3.4.9m3., dtea.wmm., frem e
91394383250, %

Hi.2., 9.8, 3989, e sy
SisasEe, o S e R
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dl.wm.wmwm., 3.9, 3.amed., R pue
91394383252, %

Question Number : 114 Question Id ;: 91394321192 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Identify the correct ascending order of the incubation period of following air-borne diseases.

Options :

Rubella, Measles, Diphtheria, Tuberculosis
91394333253,

Diphtheria, Measles, Rubella, Tuberculosis
91394333254,

Diphtheria, Rubella, Measles, Tuberculosis
91394383255,

Rubella, Diphtheria, Measles, Tuberculosis
91394333256.

Question Number : 114 Question Id ; 91394321192 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
frfafaa arg-sfa WM i Ignaa st % w@t aiE 0 it vgf .

Options :

waar, @oy, feeftfen, aufes
91394383253, ’ ’ ’

fewefilen, oy, waqn, aufes
91394383254 ’ ’ ’

fewefilan, ween, @, Tufes
91394383255, ’ ’ ’

waar, feeeftfen, o, aufes
91394383256 ; " "

Question Number : 115 Question Id : 91394321193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the following study designs in order of their strength (from lowest to highest) in a
systematic review :
Options :

Case Control Study, Cohort Study, Randomized Control Trial, Case Study
91394383257.

Randomized Control Trial, Cohort Study, Case Control Study, Case Study
91394383258,
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Case Study, Case Control Study, Cohort Study, Randomized Control Trial
91394383259,

Case Study, Cohort Study, Case Control Study, Randomized Control Trial
913943383260.

Question Number : 115 Question Id ; 91394321193 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

o Rritfes feg 1 =< fearmt it aman (W) (Fggaw | Afeepan) & a4 Fefafas =
femrEl i sqafSm i

Options :

*g Ha T, =, feagss @ , 9g
91394383257, i g Ll

913943852538

91394383259.

913943835260.

Question Number : 116 Question Id : 91394321194 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange in chronological order starting from the earliest the following legislations
containing social security measures for industrial workers :

Options :
Employees State Insurance Act, Central Maternity Benefit Act, Workmen’s Compensation
Act, The Family Pension Scheme

91394383261.
Workmen’s Compensation Act, Central Maternity Benefit Act, Employees State Insurance
Act, The Family Pension Scheme

91394383262,
Workmen’s Compensation Act, The Family Pension Scheme, Employees State Insurance
Act, Central Maternity Benefit Act

91394383263.
Employees State Insurance Act, Central Maternity Benefit Act, The Family Pension
Scheme, Workmen’s Compensation Act

91394383264.

Question Number : 116 Question Id ; 91394321194 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : Ne Option Orientation : Vertical

Correct Marks : 2 Wrong Marks :
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Frefafaa faumt Frast il sderd % amfie gun soa afdifaa § =t smew 3 dw
FIHAHAR sqafeud Hifm :

Options :

Frar v i sffm, Ff arge e siftrfem, SdeR o siftfem, afem @ whim
91394383261

FHeR i rtafrm, S migea oy siftfem, wdard wsa i sfufem, afEar S i
91394333262,

FHeR Tiere rtefm, afEar S whm, saardt asa i aifufem, S aga oy sttt
91394333263,

o=l wsa fim rfafm, Sl arge Ty siftfem, ofar SIm whm, SR sfie situfem
91394333264,

Question Number : 117 Question Id ;: 91394321195 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

Identify the correct sequence of saturated fatty acids content of following dietary fats and
oils in descending order.

Options :

Coconut, Groundnut, Ghee, Safflower
9139438326°5.

Coconut, Ghee, Groundnut, Safflower
91394383266.

Ghee, Safflower, Coconut, Groundnut
91394383267.

Ghee, Coconut, Groundnut, Safflower
91394383263.

Question Number : 117 Question Id : 91394321195 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Freafifaa smer aadh qanett aur dat % a5 B wfrs wmn & wd vadd wn H vgeie
Options :

Tifaa, qrhett, o, gemE

913943835265.

Tifaa, o, gredt, gemeE

91394385266.

off, qromEt, Tifea, e

91394383267.
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o, e, qred, JEEt

91294383268,

Question Number : 118 Question Id ;: 91394321196 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Select correct descending sequence of Total Dietary Fibre (TDF) content of following food

items :
Options :
Green gram, Ragi, Orange, Brinjal
91394383268%. _a & 5 J
Ragi, Brinjal, Green gram, Orange
913894383270. = ) & 5
Green gram, Ragi, Brinjal, Orange
91394383271, £ & e .
Ragi, Green gram, Brinjal, Orange
91394383272, &b gram, SN &

Question Number : 118 Question Id : 91394321196 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Freafefas @ vt % dea el wrat (4.91.0%.) # a8 sEtd a9

Options :

& 54, Wi, SaU,
91394383269.

ft, e, S, A
91394383270,

=41, Wwit, S, g9
91394383271 L Sl

wft, B S, oA, AT
91394383272, WS, 1,

Question Number : 119 Question Id : 91394321197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select correct ascending order of literacy rates of males in selected States of India (2011).

Options :

Jammu and Kashmir, Bihar, Lakshadweep, Sikkim
91394383273.

Bihar, Jammu and Kashmir, Lakshadweep, Sikkim
91394333274.
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Bihar, Jammu and Kashmir, Sikkim, Lakshadweep
91394383275,

Jammu and Kashmir, Bihar, Sikkim, Lakshadweep
91394333276.

Question Number : 119 Question Id ; 91394321197 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

VTG < =afd T 7 (39 2011 < SHAEAT F AR W) T6F VLI Gl ARG 69 7 TS5 ;

Options :

v 3t e, faem, wev, i
91394383273,

forgr, s aftt o, wargha, Rl
91394383274,

forgr, sy ofi e, fufoerm, @ardia
91394383275.

e o ey, fogr, Rifewn, @erda
91394383276,

Question Number : 120 Question Id : 91394321198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Select correct chronological order of milestones of socio-personal development of children.

Options :

Recognizes mother, Smiles at mother, Suspicious of strangers, Enjoys hide and seek
91394333277.

Smiles at mother, Recognizes mother, Suspicious of strangers, Enjoys hide and seek
91394383278.

Smiles at mother, Suspicious of strangers, Recognizes mother, Enjoys hide and seek
91394383279.

Smiles at mother, Recognizes mother, Enjoys hide and seek, Suspicious of strangers
91394383280 s Joy k, Susp g

Question Number : 120 Question Id : 91394321198 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Tersh % GTRh-JafFae fashra & wgaqol Sl S adt SHresen o 9y |

Options :
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91394385277.

91394383273.

913394333279.

91394383280.
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St Bl TR B, S W e 8, i safat o ufe siehe] @ 2, site-sitelt it oreg
Sl

T 9 AT 2, ST Bt IReFaT 8, i safsat o ufe sehre] @ 2, site-Rstelt it orrg
ShIkS

ST 9 et 2, i safdaat o yfe Yol @A &, S St 9geHdl 8, JAia-REiteft #i oireg
SEIkS

St TR YEIRAIET B, Lt T B, SAia-Rsted i og o 2, swftfua safaai % wfv i
T 2

Question Number : 121 Question Id : 91394321199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the four stages of the demographic cycle through which a nation passes.

Options :

91394385281.

91394383282.

913943385283.

91394385284.

High stationary, low stationary, early expanding, late expanding

High stationary, early expanding, low stationary, late expanding

High stationary, early expanding, late expanding, low stationary

Early expanding, late expanding, high stationary, low stationary

Question Number : 121 Question Id : 91394321199 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

SIfRPI =5k % 97 IR PR i goaateda hif Rraes smar w s %1 Hriward 2T § |

Options :

91394385281.

91394383282.

91294383283

91394385284.

I IFE, =7 30d, iy fereamoon, foeifara foreameo

I= 350, Yy fereamow, =7 S3wa, foefaa faeamo

3= Igua, Yiw faearon, facfaa faeamon, =@ sgua

yiter foreamon, foefera foeamon, 3=1 3@, =@ s@@
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Question Number : 122 Question Id : 91394321200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Select correct chronological order of introduction of vaccines in the immunization
programme.

Options :

Hepatitis B Vaccine, Inactivated Polio Vaccine, JE Vaccine,

91394383085, Lotavirus Vaccne

Inactivated Polio Vaccine, JE Vaccine, Hepatitis B Vaccine,

9139438308, 1Otavirus Vaccine

Hepatitis B Vaccine, JE Vaccine, Rotavirus Vaccine, Inactivated Polio Vaccine
91394383287.

JE Vaccine, Hepatitis B Vaccine, Inactivated Polio Vaccine,

91304383088, Lotavirus Vaccne

Question Number : 122 Question Id : 91394321200 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

St FfsEn % s 1 dieit B gE fhr SR B FreseaEar gerge ot af e gt )
Options :

91394383285, federsfem <t dAffem, srmfsra difern I, 313, &, Ter arm At

91394383286, sha difert S, 9.3, S, Tetefea s e, Jer amra S

fetersfen St e, 9.3, dom, T ara e, Tfsrasga qiferat demt
91394383287 ¥

.3, G, Tederzfen st dom, Ffsrasga diferat demr, Ter arra et
91394333288, b

Question Number : 123 Question Id ; 91394321201 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

Identify correct chronological order of recognition of newly emerging viral diseases since
1973.

Options :

Rotavirus, Ebola, HIV, HIN1
913943832889.

Ebola, HIV, Rotavirus, HIN1
91394333290.
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Rotavirus, HIV, HI1N1, Ebola
91394383291.

Ebola, HIV, Rotavirus, HIN1
91394333292,

Question Number : 123 Question Id ; 91394321201 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;

T4 1973 % 1] & ¢ fawia g1 I fawro-sifa T B vg=m 1 w6 Fiemhieh H TEeT |
Options :

VITERE, &, oe.9ms ., ue.1w.1
91394383283, ’ , A, V.1

gaten, U e ot e, .1,
91394383290 L e

AR, =, 3ms ot T9.10. 1, 3eien
91394383291, Ay TR

gaten, U, A ot TeErd, T, 101
91394383292, Vo e

Question Number : 124 Question Id : 91394321202 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Arrange the deaths by major cause groups in India (2010 — 20183 Health and Family
Welfare Statistics in India, 2017) as percentage of total deaths in descending order.

(i) Communicable, maternal, perinatal and nutritional conditions
(i) Non-communicable diseases

(iii) Injuries

(iv) Symptoms, signs and ill-defined conditions

Choose the correct answer from the code given below :

Code:

Options :

91394333293, (1), (ii), '[111), (iv)

P o

91394383295, (ii), (1), (iii), (iv)

sias g O, U, i
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Question Number : 124 Question Id : 91394321202 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

YT o e & Y@ FRH G5l Hl Fa T % Iawd % §9 7 =08 9 § F9m35e (2010 — 2013
e A IHER Feamr s, 2017)

(i) e, AT, Taa-9d 3 dre-feufe
(i) TR-"ehme UM

(iii) AT

(iv) awamn, fog it s foem wftferfomd
fre e me 52 # | w9 IW = g

%<
Options :

91394383293, {1}: ":11), '[111], (iv)

91394383204, O V) (D, (D)

91394383006, 7 D) (), (i)

Sub-Section Number: 5
Sub-Section Id: 09139431124
Question Shuffling Allowed : Yes

Question Number : 125 Question Id : 91394321203 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I Last I
(Type of Exposure) (Max. Limit Recommended)
(a) Radiation (rad) (i) 85
(b) Noise (dB) (i) 1
(© Sulphur dioxide (ugfmal i) B04
(d Lead in water (ugfmg}l i) 8
Code:
Options :

91394383267, (a)—(D), (b)—(ii), (e)(iii), (d)—(iv)
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siggasagoeE B o AR e (-

sisedssgsee W (. (e-(lh), (d)-{v)

91394383300, 2B (b)), (-(iv), (DD

Question Number : 125 Question Id ; 91394321203 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :

et 1 el o wh 11 R ud & Rrem i ofit i fjg T g 7 @ @t s gt |

qA I gt 1T
(3TN HT TEHR) (Gxga srftreman diar)

(a) fafrtm () (i) 85
(b) TR (Fa=a) (i) 1

(e) (ug !m3] (iii) 500

(d) s & (pg/m3) (iv) 5

®e:
Options :

91394383267, (a)—(D), (b)—(ii), (e)(iii), (d)—(iv)

o12g4sg30gg. -1V (b, (O-UREEEED

siggasggoeg  B-ab (- (e}~ (d-0w)

Question Number : 126 Question Id : 91394321204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below,
List I List II
(Food Standard) (Agency)

(a) Codex Alimentarius (i) Directorate of Marketing and Inspection, GOI
(b) PFA Standards (i) Bureau of Indian Standards

(¢) Agmark Standards (iii) Central Committee for Food Standards

(d) ISI Mark (iv) FAO/WHO Food Standards Programme

Code:

Options :
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srgaazagsyy W, (-9, (d)-(iif)

sisedsages B W bHED, (0r), (1D

91294353203 iy (B, e)-tiD), (d)-lv)

Question Number : 126 Question Id : 91394321204 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

geft 1wt ot gEht 11 A ut & Rrem Aifsg ofit e fgg o 3e 3 & @ st g |

A 1 gt I
(T Aw) (i)
(a) FITTT BN (Freaw wRereiem) () fom it e waifdmem, ¥e TR
(b) 91.9%.T. HFH (i) WRdT 9FF =0
(c) W A (i) 1 @ are Gt
(d) 33,79, 38, qTh (iv) U530 /FvT TaTees €e Rl WHE S
C
Options :
T (a)—(D), (b)(ii), (e)—(iv), (d)—(iii)

oo B

sisadasguey i, (=D, (=), (d)-lv)

Question Number : 127 Question Id : 91394321205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Figure : Repeated glucose measurements on single sample with

different instruments
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Instruments —»

Match the items of List I with the items of List II and choose the

correct answer from the code given below.

True level

List I List IT
(Instrument) (Interpretation)
(a) A (i) Precise and biased
(b) B (i1) Precise and unbiased
(c) C (iii) Imprecise and biased
(d) D (iv) Imprecise and unbiased
Code:
Options :
S SaaEEEEss (a)-(i), (b)—(ii), (e)—iii), (d)—(iv)
S — (a)-(ii), (b)), (c)(iv), (d)(iii)
I (a)-(iii), (b)—(iv), (e)-(i), (d)—(ii)
e (a)—(iv), (b)iii), (e)—(ii), (d)—(i)
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Question Number : 127 Question Id : 91394321205 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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e : Q19 737 & veher 1453 9t YFatas Tqewia grad

X
X X X g uo
X XXX X X X X
. X X X % %
X
X
X X X X X
100 fireht wm PN AR T T
E | xxx X X
%‘ X
A B C D

= I we 1 gt 11 <t A @ e hifde siv = few o 52 & @ ud
I I G |
T 1 Tt 11

(7=) ()
(a) A (i) @die S geqaragel
(b) B (i) &t 3T FHee
(c) (iii) s@grelee 3T yegTago]
d) D (iv) sraemeiqes 3R foae
Fe :
Options :

91394383305. (a)—(1), (b)—(ii), (c)(iii), (d)~(iv)

913943333086, (a)—(ii), (b)—(i), (e)iv), (d)—(iii)

gysasgagy 2 (00w, (B4, (DD

siseisassee I (AL RO, W)

Question Number : 128 Question Id : 91394321206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Match the items of List I with the items of List IT and choose the correct answer from the

code given below.

List I

List IT

(Health Day) (Celebrated On)
(a) World No Tobacco Day (i) _th

7 April

(b) World Blood Donor Day (ii) __st

(¢) World Health Day (ii)

21 June

31% May

(d) World Yoga Day (iv) , .th

Code:

Options :

913943853089,

91394385310.

91394385311.

91384383312.

14  June

(a)-(iv), (b)iii), (e)-(i), (d)—(ii)

(a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

(a)-(iii), (b)—(iv), (e)-(i), (d)—ii)

(a)-(iii), (b)-{ii), ()1, (d)—(iv)

prepp
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Question Number : 128 Question Id : 91394321206 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g 190 W g 110 el @ e A ol R e o g § @l SRR g

gt 1

(wreen fomw)

gt I

(a) frrmTap PR g ) 7w
(b) fawa @ qm fma (i) 213
(¢) Tava e fegm (iii) 31 7%
(d) fza i fEaa (iv) 14 5

C -

Options :

913943853089,

91394385310.

91394385311.

91384383312.

(a)-(iv), (b)iii), (e)-(i), (d)—(ii)

(a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

(a)-(iii), (b)—(iv), (e)-(i), (d)—ii)

(a)-(iii), (b)-{ii), ()1, (d)—(iv)

(v W i)
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Question Number : 129 Question Id : 91394321207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(Mode of transmission) (Disease)
(a) Soil transmitted (i) Brucellosis
(b) Arthropod borne (ii) Hepatitis C
(e¢) Blood borne (iii) Zika virus disease
(d) Milk borne (iv) Hookworm
Code:
Options :
N (b ). ()t
TGRSR (a)—(i), (b)—(iii), (e)—(iv), (d)—(ii)
). (b)_(ii ) (i
5758 AL (a)—(iv), (b)—(iid), (e)—(ii), (d)—1)
). (b)_(ii 9 ()
91394383315 (a)—(iv), (b)—(ii), (e)—(iid), (d)—(i)
) (bY(i o). (i
T — (a)—(iD), (b)—(iii), (¢)—(iv), (d)—(1)

Question Number : 129 Question Id : 91394321207 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g 190 WS g 11 e @ e AR ol R e e g @l SRR g

H?ﬁ I :@‘]]
(v=ror-fafr) (@)
(a) FEI-HRA () FaARE
(b) SR S (i) ¥ersfea
(¢) E-Si-a (iii) it T A
C T
Options :
91394383314, V) (B)-(iD), (-1, (d)-0D)

91394385315.

(a)—(iv), (b)—(il), (c)—(iii), (d)—(1)
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91394383315, 2 -, (-(19), (-

Question Number : 130 Question Id : 91394321208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.

List 1 List IT

(Disease) (Incubation period)
(a) Leptospirosis (i) 4-20days
(b) Brucellosis (i) Usually 1 — 3 weeks

(¢) Bubonic plague (iii) 2 — 7 days
(d) Serub typhus (iv) Usually 10 — 12 days
Code:

Options :

913943R83317. (a)—(D), (b)—(ii), (e)iii), (d)—(iv)

91394383315 B (M=), (-(iv), (DD

oysanggaye | i () (), (d)-(e)

sizaasaaang ) (b)-(i); (o)-CREELTG

Question Number : 130 Question Id : 91394321208 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

g 10 WS e 11 e @ e AR ol AR e o g § @l SRR g

gt 1 gt I
(@) (35 srafi)
(a) AR IGURIRM () 4d20fm
(b) THATHE (i) AM=aaT 18 3 9"
(¢) At i (iii) 2@ 7T
(d) Tha TI%E (iv) |=aat 10 ® 12 A
C -
Options :

913943R83317. (a)—(D), (b)—(ii), (e)iii), (d)—(iv)

91394383315 B (M=), (-(iv), (DD
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91364383319 2 ib; (D)D), (-0, (d)-(iv)

§ia6458a550, 2 0% (B-(HD, (0, (-0

Question Number : 131 Question Id ; 91394321209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks ;
Match the items of List I with the items of List IT and choose the correct answer from the

code given below,
List I List II
(Characteristic) (Definition)
(a) Intelligence (i) Ability to use principles to solve concrete problems
(b) Induction (ii) Socially acquired learned behaviour
(¢) Deduction (iii) Ability to see meaningful relationship between things
(d) Attitude (iv) Ability to discover principles
Code:
Options :
a)-(i), (b)—(ii), (e)-(iii), (d)—(iv)
91394383351 (a)(1), (b)—(ii), (e)—iii), (d)—(
a)—(ii), (b)—(iii), (e)—(iv), (d)—(i)
91394383309 (a)—(ii), (b)—(iii), (e)—(iv), (d)—(
a)—(iii), (b)—(iv), (e)-(1), (d)—(ii)
e (a)iii), (b)—(iv), (e)—(D), (d)
a)—(iv), (b)—(1), (e)—(ii), (d)—(iii)
598 AR (a)(iv), (b)—(1), (e)—(ii), (d)~(

Question Number : 131 Question Id : 91394321209 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=t 1 et =t e 11 R e | Rrem Aifg ot S g T g 3 @ ad s g |

T I g I
(arfrergron) (aftsmam)
(a) Tfg () 9o gueme & g ¥ fagrat # s A 6 G
(b) THA (i) i w9 @ 21fa siftrfie sagr
(¢) Frmm (iii) ST % weA gl gy @ s T
(d) sIfrfa (iv) Rrgrat =t va1 s i Jimen
C -
Options :

913943183321, (a)—(D), (b)—(ii), (e)(iii), (d)—(iv)
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91394383300 2~ -G, (-(19), (-

sisadsaguey Ul (b, (0r), (dHID

91394383324. (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)

Question Number : 132 Question Id ; 91394321210 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List IT
(a) Propagative (i) Scabies

(b) Cyclo propagative  (ii) Malaria
(¢) Cyclo developmental (iii) Filaria

(d) Direct contract (iv) Plague

Code:

Options :

sisgdaaguss W G-, (e, (d)-v)

s1zsusssass | TR i de-(Il A

1304383305 Ui, (M), (1D, (DD

Question Number : 132 Question Id : 91394321210 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1< et <t e 11 R et | Rrem Aiftg ot i fig T g 3 8 ad s g |

T 1 T I
(a) FuTd () TS
(b) W9 g (i) weifen
(0) Uus forpramens (i) wrgeifen
(d) S8 | (iv) AT
C -
Options :

91394383325, (a)—(D), (b)—(ii), (e)iii), (d)—(iv)
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91394383326 (@)~(iv), (b)~(id), (c)(iid), (D))

912943g3z0g: Uiy (B-Gv, ()=l (=D

Question Number : 133 Question Id ; 91394321211 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the items of List I with the items of List IT and choose the correct answer from the

code given below,
(2) FAO () Geneva
(¢) UNICEF (iii) New Delhi
(d) WHO SEARO (iv) New York
Code:
Options :
Lt b L] e d &
sispaaagEss Wb, (e, (d-ty)
aa b 'L p. d 5
s1zsusssasy b de-(v)
11 b 1 . d i
o1so4seagzy i (-, (e-(FIEERRHD
) o), (i
arsEasysams B0 (blo(h), -G, (dr-1D)

Question Number : 133 Question Id : 91394321211 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1< et <t e 11 R et | Rrem Aiftg ot i fig T g 3 8 ad s g |

T 1 g I
(a) TH.T3A. (i) SFa
(b) 3TE.Ta. 21, (i) M
(c) IMAB (iii) 7§ feeeht
(d) Torra wareen w@re (W@ T am.eR.) (iv) =@ETh
C -
Options :

913943R83329. (a)—(D), (b)—(ii), (e)iii), (d)—(iv)
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91394383330 2 (-G, (-(19), (-

gresasanggy, b (.ot (d)-Ga)

Question Number : 134 Question Id ; 91394321212 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.

List 1 List II
(a) Village () 1,000 population
(b) Sub Centre (i) 30,000 population

(¢) Primary Health Centre (iii) 100,000 population
(d) Community Health Centre (iv) 5,000 population
Code:

Options :

sigdaggugy R -1, (e, (d)-v)

91394383334 (a}_{ﬂ? (b)—(l‘?)s (CJ—{II), (d)—(ﬂl}

9139433355, 4 (b)), ()RR

gysansgangg - (B0, (-0, (V)

Question Number : 134 Question Id : 91394321212 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1< et <t e 11 R et | Rrem Aiftg ot i fig T g 3 8 ad s g |

T 1 g I
(a) UM (i) 1,000 Hr rard
(b) 39 %5 (i) 30,000 T}

(¢) Trufiren Tareen &= (iii) 100,000 <t =TS
(d) TSI WA %5 (iv) 5,000 i AT

%2
Options :

91394383333, (a)-(1), (b)—(ii), (e)(iii), (d)—(iv)
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*, b 3 ! as A d -
Srgaasaggy S I e, ) (i)

§156458a5gs @09 (B-(D, (0, (-0

91394333336, (a)—(ii), (b)—(i), (e)iii), (d)—(iv)

Question Number : 135 Question Id ; 91394321213 Question Type : MCQ Option Shuffling : Yes Display Question Number ; Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks ;: 2 Wrong Marks :
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(Genetic Trait) (Disease)

(a) Autosomal Dominant (i) Haemoglobinopathies

(b) Autosomal Recessive (ii) Vitamin D resistant rickets
(¢) Recessive Sex-Linked (iii) ABO blood group system
(d) Dominant X-Linked (iv) G-6 PD deficiency

Code:

Options :

91394383337, 2 (B0, (©-1v), (1)

91394383338 (a)—(ii), (b)—(iv), (e)(iii), (d)—(i)

Si58qsagasy Wb, (o), Wy

91394383340, (a}_{ﬂ? (b)—(l‘?)s (CJ—{II), (d)—(ﬂl}

Question Number : 135 Question Id : 91394321213 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1 vt o ah 11 R uei & frem At ofk i g T e § @ wd s git |
Tl 1 g I

(ST TeoT) (am)

(a) SferTaet s () EErefaEa

(b) sferreeht soviret (i) e < sfvdes fenga
(c) vt fom-mgem (i) ©.sft.ot, o0 g o

(d) TVt X-Hgam (iv) Sft.-6 9.2, ==t

C -

Options :
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Sgaasagy iy - S e-; )

ousanggmay | o R, (o=, (d)-(i)

Question Number : 136 Question Id : 91394321214 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List I1
(International Organisation) (Major Health Programme Assisted in India)
(a) SIDA (i) Integrated Child Development Services Scheme
(b) DANIDA (i) National Tuberculosis Control Programme
(¢) CARE (iii) Family Planning Programme
(d) Ford Foundation (iv) National Blindness Control Programme
Code:
Options :
a)—(1), (b)—(iii), (e)—(ii), (d)—(iv)
T, (a)—(D), (b)iii), (e)—(iD), (d)—
a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)
S5 A5EEE S (a)-(ii), (b)—(iv), (e)—(D), (d)—
a)—(iii), (b)—(ii), (e)-(iv), (d)—(i)
91394323343, (a)—(iii), (b)(ii), (c)(iv), (d)—(
a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
91394383344 (a)—(iv), (b)iii), (e)—(ii), (d)—(

Question Number : 136 Question Id ; 91394321214 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks : 0
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et 1 wel 1 et 11 R At & firem AifSre ofi = e T e 9 @ @& sw s gfte |

gt 1 qet II
(st Gwe) (VRa ¥ TIW UES T TR HrHe)

(a) TH.3M5.3.U, () whrma are g dan FieET
(b) S rwaEde. (i) wd qufes Fesor s
(¢) du.ami, (iii) iar Fras wrbm

(d) IS BESIH (iv) T Srgat femo el

®e:
Options :

91394383342, (a)-(ii), (b)—(iv), (e)—(1), (d)—(iii)

grsgdagynyy o (b (O-(v) (=D

sisassngy OB Gl 4

Question Number : 137 Question Id : 91394321215 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List I List II
(Health Personnel) (Suggested Norm)
(a) Nurse (i) 1 per 30,000 population
(b) ASHA (i) 1 per 1,000 population
(¢) Health Assistant (Male and Female) (iii) 1 per 5,000 population
(d) Pharmacist (iv) 1 per 10,000 population
Code:
Options :
a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
91394383345 (a)—(1), (b)—(iv), (e)—(iid), (d)~«
a)—(iii), (b)—(ii), (e)—(i), (d)—(iv)
91394333346. (A=l bW (0Dt
a)—(1), (b)—(iii), (e)—(iv), (d)—(ii)
S (a)(1), (b)—(iii), (e)—(iv), (d)

siseqsagugs @ (b, )0, (d-lv)
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Question Number : 137 Question Id : 91394321215 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

et 1 wel o =t 11w & Rram hifvg ok e fyg T e # @ @t s g |

T 1 T 11
(Tareegt) (gzmar mar wiawA)
(a) 7d (i) % 30,000 H A R 1 =4l
(b) 3 (i) T 1,000 i AT | 1 =4fa
(c) TaTeEq TR (769 AR ufget) (iii) ¥ 5,000 H A& R/ 1 =4t
(d) TMiRRL (iv) T 10,000 it AT} KW 1 =qfw
C
Options :
TSR (a)—(i), (b)iv), (e)-(iii), (d)—(ii)

sisensasngy (B (-0, (d-v)

SisEagaEEgy D k-, St

s1zsusssman | T gy e -t

Question Number : 138 Question Id : 91394321216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Match the items of List I with the items of List II and choose the correct answer from the

code given below.
List I List I
(a) Sewage (1) Waste water which does not contain human excreta
(b) Sullage (i) Food waste
(¢) Rubbish (iii) Waste water from community containing solid and liquid excreta
(d) Garbage (iv) Paper, plastic, wood, metal, ete.
Code:
Options :
a)—(iii), (b)—(1), (e)—(iv), (d)—(ii)
91394383349, (a)(iii), (b)—(1), (e)—(iv), ()
a)-(ii), (b)—(iii), (¢)-(), (d)—(iv)
91394383350, (=il (i) (oD 1)
a)—(iv), (b)—(iii), (e)—(ii), (d)—(i)
T (a)(iv), (b)—iii), (e)—(ii), (d)—
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Question Number : 138 Question Id : 91394321216 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

el 1wt <t gEht 11 R udt & Rrem Aifsg ofit e fgg o 32 3 & adt s =t g |

qHt 1

gt I

(a) woret (FiFw) () e o Fred wee sooef e o B @

(b) FII-Fhe (TAT) (ii) G 9

(c) Wt (Trr) (i) IS | sYo9e e s Foraw 3ia ok 3o 3easfi ugred e 2
(d) FRI-F9 (M) (iv) FT, TAM, FS, 4T, TG

C

Options :

913843833489,

91394385350.

91394385351.

913843833352.

(a)-(id), (b)—(i), (e)-(iv), (d)—(ii)

(a)-(id), (b)—iii), ()1, (d)—(iv)

(a)-(iv), (b)-iid), (e)-(ii), (d)—(i)

(a)-(1), (b)iii), (e)-(ii), (d)—(iv)

Question Number : 139 Question Id : 91394321217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List I with the items of List IT and choose the correct answer from the

code given below.
List 1 List I1
(Fruits) (Calories)
(a) Banana (i) 74 Calories
(b) Grapes (ii) H1 Calories
(¢) Guava (iii) 71 Calories
(d) Mango (iv) 104 Calories
Code:
Options :
T — (a)—(1), (b)—(iv), (e)—(iii), (d)—(ii)
iv), (b)—(ii), i), (d)—(i
5758 AEEEHEE (a)—(iv), (b)—(iii), (e)—(ii), (d)—(1)
D). (b)(i), i), (d)—(i
91394383355 (a)—(D), (b)(ii), (e)-iii), (d)—(iv)

91394385356.

(a)-(iv), (b)-(i), (e)-(id), (d)(iii)
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Question Number : 139 Question Id : 91394321217 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

et 1 wel o =t 11wt & Rram fifsg ok e fyg e e # @ @t o g |

gt 1

(&)
(a) e

(b) 3R
(c) 3UEQ
(d) 3™

C

Options :

91384383353.

91394385354.

91394383355.

91394385356.

gt I
(Getrdt)

(i) 74 Fard
(i) 51 %ard
(iii) 71 FeArd
(iv) 104 FaA

(a)—(D), (b)—(iv), (c)-(iii), (d)—(ii)

(a)-(iv), (b)iii), (e)-(ii), (d)—(1)

(a)-(i), (b)ii), (e)-{iid), (d)—(iv)

(a)-(iv), (b)-(i), (e)-(id), (d)(iii)

Question Number : 140 Question Id : 91394321218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Match the items of List I with the items of List II and choose the correct answer from the

code given below.
List I List IT
(Food Material) (Common Adulterants)
(a) Black pepper (i) Black gram husk
(b) Tea dust (ii) Saw dust
(¢) Chilli powder (iii) Lead chromate powder
(d) Haldi (iv) Dried seeds of papaya
Code:
Options :
TS AISSEET (a)—(1), (b)—(iii), (e)-(id), (d)—(iv)
S EESHES (a)—(iv), (b)-(iii), (e)—(ii), (d)—(i)

91394385359.

(a)-(iii), (b)(ii), (e)—(D), (d)—(iv)
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Question Number : 140 Question Id : 91394321218 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

=t 1 el o =t 11w & e i ok i fyg e e 3 @ wdt s g |

T 1 T I

(Tver arft) (T arafisrs)
(a) el fird (i) I HT
(b) -0 (i) 2t % =i (FuaT)
() Torst arEe (iii) €91 U IR¥R
(d) Tl (iv) Tfid % q@ =
C T

Options :

91394353357 (a)—(1), (b)—(iii), (c)—(ii), (d)—(iv)

91394383358 (a)—(iv), (b)iii), (e)—(iD), (d)—(1)

91394383359, (a)-iii), (b)—(id), (e)—(1), (d)—(iv)

91394383360. (a)(iv), (b)—(1), (e)—(ii), (d)—(iii)

Sub-Section Number: 6
Sub-Section Id: 09139431125
Question Shuffling Allowed : Yes

Question Id : 91394321219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : Comprehension

Table : Test results for an Investigative procedure

Disease Present | Disease Absent|Total
Test Positive |20 33 53
Test Negative |10 37 47
Total 30 70 100

A screening test was applied on 100 people for a disease X. The results of the test have been
given in the table above. The next five questions are based on this table.

Sub questions
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Question Number : 141 Question Id : 91394321220 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The prevalence of the disease X in the population is

Options :

91394335361. fo%

91394385362. 215k

91394335363. e

91394335364. e

Question Number : 142 Question Id : 91394321221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
The specificity of the sereening test is

Options :

91394383365. ol
91394383366. e
91394383367. e
913394383363. 0%

Question Number : 143 Question Id : 91394321222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The sensitivity of the screening test is

Options :
91394383369, S0 o7
91394383370, 0%
91394383371, 017
70%

913894383372.
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Question Number : 144 Question Id : 91394321223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

The positive predictive value of the screening test is

Options :

9139438337 3. 2l
91394383374. Ak
91394383375. Gt
91394383376. X

Question Number : 145 Question Id : 91394321224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

The negative predictive value of the screening test is

Options :

91394383377. 2l
91394383378. Ak
91394383373. Gt
913394383330. o

Question Id : 91394321219 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (141 to 145)
Question Label : CDmpI'EhEHSiGH

arferent : Sitsr wdteror st gfom

e < | st it |
St g gifsfea| 20 33 53
it giemw fmfea |10 37 47
Gl 30 70 100

#r X % frw 100 @t w1 sie whor fean man | whzor 3 ahom s ot § R e € | e
9 W99 39 aiferent W 2A4iiea 7 |

Sub questions

Question Number : 141 Question Id : 91394321220 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical
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Correct Marks : 2 Wrong Marks : 0

saEa i X & sareadr 8

Options :

91394335361. o

91394385362. 20%

91394335363. =L

91394335364. Al

Question Number : 142 Question Id : 91394321221 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

St witeor < fafirear 2
Options :
91384353365, 4%
91384353366. ae%
913394353367, Az
913394353360, Hive

Question Number : 143 Question Id : 91394321222 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

Sie gz h gacsfiean 2
Options :

91394383369, S0 o7
91394383370, °0%
91394383371 00 1%
91394383372 0%

Question Number : 144 Question Id : 91394321223 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical



www.prepp.in . repp

Your Personal Exams Guide
Correct Marks : 2 Wrong Marks : 0

Sie Tz 1 arerss widsrar=h 9= 8
Options :

91394383373. ik
91394383374. aR
91394383375. 6%
91394383376, T

Question Number : 145 Question Id : 91394321224 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

e TiiEToT 1 FoTeHsh Wiersgarsh 7H 2

Options :

91394383377. 1%

91394383375. 455%

91394383375. B2

91394383380. oive
Sub-Section Number: 7
Sub-Section Id: 9139431126
Question Shuffling Allowed : Yes

Question Id : 91394321225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension
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Read the following passage carefully and answer questions which follow.

Iodine is required in very small quantities by the human body. Its deficiency occurs in
certain mountainous regions, throughout the year at a low level and causes physical and
mental energy loss due to inadequate production of thyroid hormone. In 1915, endemic
goitre, as this deficiency disease was named, was found to be easy to prevent by use of
iodized salt. The first large scale study was done on 5,000 adolescent girls who were given
iodized salt and development of iodine deficiency disorder in them was compared over a
period of 5 years with a similar control group. The study group was found to have
significantly lesser incidence of iodine deficiency disorders. Iodized salt was introduced on a
community scale in many countries in 1924. Salt was considered an ideal vehicle for
fortification.

Sub questions

Question Number : 146 Question Id : 91394321226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option ;: No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Which of the following types of nutrient deficiencies best describes iodine deficiency

disorders ?

Options :

913943833g], heronufrient

9139435330 lacronutrient
Essential amino acid

91384383383 0 aae
Essential fatty acid

91394383384,

Question Number : 147 Question Id : 91394321227 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line (Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Based on which of the following criteria is iodine deficiency disorder labelled as endemic :
(i) Constantly present in a particular area.
(i) The prevalence is low.
(iii) It can be prevented easily.
(iv) Iodine is required in small amounts.
Choose the correct answer from the code given below :

Code:
Options :

(i) and (iii) are correct
91394383385,

91394383386, O 2nd (iv) are correct
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91394383357, ) and () are correct

91394383383, L and (iv) are correct

Question Number : 148 Question Id ; 91394321228 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation ;: Vertical

Correct Marks : 2 Wrong Marks :

What level of prevention has been deseribed in the above example ?

Options :

913943333g9, 1 rimordial

91394385390.

Second
91394383391. -

Terti
91384383392, =

Question Number : 149 Question Id : 91394321229 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
Identify the study design used in the example cited :

Options :

Ecological stud
91394383393, & r

Cohort study
91394383394.

Observational study
91394383395.

Intervention study
91394383396,

Question Number : 150 Question Id : 91394321230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0
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Why was salt considered an ideal vehicle for fortification ?
(i) Iodine is a natural constituent of salt.

(ii) Salt is consumed by all classes.
(iii) Salt is consumed throughout the year at roughly the same level.

(iv) Testing of iodine concentration in salt is easy.
Choose the correct answer from the code given below :

Code:
Options :

91394383397, ) and () are correct

(i) and (iii) are correct
91394383398,

1304383300, OV and (i) arecorract

(ii) and (iv) are correct
91394383400,

Question Id : 91394321225 Question Type : COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions : No

Question Numbers : (146 to 150)
Question Label : Comprehension

FrrferiRera werier <6 s & wfYy ofik = e o woat & o it

HE TRt 9gd AiE 9§ AR i AT Bl 3 | Howd TBIe & J 3@ FH1 918 S
& Wgl 99 W uE e T W T et B ST ARSI % 19t IedrgA o SRl e R e
fern Tt <1 &1 Bram 2 1 1915 ¥ Tl s, St R wm erm A Ht e m e R, SR A 4R
a1 S Foh AERIE T % YA | TEH AT FA AEH § | I I, T A=A 5,000
fermifet vt foram mam R8s e T men s wiw aut <t srafyr & Sk st s
FHt gaedt TR = Io0= g B ga T8 YR % Uk e agg % wmy TS | ag @ R
AT Tg A A 6 FHi gadt fer wits 9@ F7 2 | o7 gl 7 99 1924 7 amgifiee W
T NASGFT T hl YO h TF | T Bl T % [STHT I A YR JHT SAGT o7 |

Sub questions

Question Number : 146 Question Id : 91394321226 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

frefafias 8 @ -8 9w Tt h F AR f =it gadt faert it wgads ol 1 aftfe sl
8?7
Options :

gewdIes T
91394383381

T T

91394385332.
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HAEAF it wfire
91394383383.

91394383384.

Question Number : 147 Question Id ;: 91394321227 Question Type : MCQ Option Shuffling : Yes Display Question Number ;: Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : (

frafeafas § @ B3 armeret & smar W s it wft dacft far it e wsar 2
() ot &3 folw & gaq sw A ufS@ war ? |

(ii) FE! SR F9 TaT 2 |

(iii) Fh! TG B YHYU™ i 51 Gehell 2 |
(iv) ISR <t A1t wrn o rragrenar a2 |
fre e me 52 # | ¥ IW = g

C T4
Options :

91394383385, R (i) ¥l &

91394333386, R (i) T B

91394383387, SR (i) 7 2

91394383388, W) R (i) T R

Question Number : 148 Question Id : 91394321228 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

I9ga IR # UHYTH Hi HiH-T1 T affa e mn 2 2

Options :

91394333389.

913943385390.

913394383391.

913394383392.
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Question Number : 149 Question Id : 91394321229 Question Type : MCQ Option Shuffling : Yes Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks : 2 Wrong Marks : 0

Iga IETE | v o Y renr sAfirhed Ht wEEI ;

Options :

91394383393.

"Il A
91394335394.

913943833895, il

TETEY T

91394383396.

Question Number : 1530 Question Id : 91394321230 Question Type : MCQ Option Shuffling : Yes Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks : 2 Wrong Marks : 0

T i IR S T5TH 1 HGY A1 1 qAT 740 2
(i) LA THF Fi Tepfash ¥ 2 |

(i) 9 1 399 ot Tl grn R S 2 )
(iii) 9 I 5 W ST U 9T A T TR Sran @ |

(iv) T ® AL =h FEAdT 1 A0 FE IEE T8 |
fre R me 52 # | T IW = g

Re:
Options :

91394383397, 3R (i) W

91394383308, R (i) W

91394383390, 3R (i) W

91394383400, W R (iv) T 3



